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1. Indicate the incorrect statement among the following :
(1) A statistics is a summary description of characteristics of the sample
(2) A parameter is a summary description of a fixed characteristics of target population

(3) The confidence level is the range into which the true population parameter will fall,

assuming a given level of confidence

(4) The confidence level is the probability that a confidence interval will exclude the

population parameter
Fr=fafea § @ 7og 29 &1 gha ¢ :
(1) @ @eF= 97 % RLwaed & i fawer 8
(2) Tk Ferdier @ed e Y U ifwd AQraaredi @1 @i faawer
(3)@@@%%%W%ﬁ%mwwmﬂﬁw
Wi FR e
(4) [ X 98 99EAr & S U Qg™ i s9aedr Witex & arex
HT M
2. Chi-square test is used as :
(1) A test of significance of mean in cross tabulation
(2) A test of significance of proportion
 (3) A testof analysis of variance in bivariate data
(4) A test of significance of the observed association in a cross tabulation
Fré-art qherr @ wq A @R Rear o '
(1) #fa g9 H Arq & Hew Fr e
(2) STUIT & He™ H THeor
(3) e 3er 7 RErer & fRAgdger Hr gder
(4) O HfE I H T&ANT MG & wew @ O
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d. Which statistics and statistical term is mof associated with Bivariate regression analysis ?
(1) Coefticient of multiple determination
(2) Standard error of estimate
(1) Estimated or predicted value
(H) Coefficient of determination

[EsiSret wlermT fasdmer & arey e A sife ol i s dam T4
¥ 7

(1) "5 Feey ories

(2) OTEwHETET A e gfe

(3) OTERErET Ar arpniRr e
(4) e aqiies

4. Kaiser-Meyer-Olkin is a measure of ..............
(1) Factor scores
(2) Factors loading
(3) Correlation between variables
(4) Sampling adequacy
More-Nae-onfen= o@m w9 B o,
(1) THIEH Y
(2) @reen enfar
(3) =l @ e wedEa

(4) T @) o
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)

Scanned with CamSce



5. Ifr=0.6,byx= 1.2 then bxy=

(1) 0.3 (2) 0.2
3) 0.72 (4) 0.42
X r=0.6,byx=1.2 F A bxy=

(1 03 | 2) 02
(3) 0.72 (4) 0.42

6. The measures of dispersion can never be :
(1) Positive
(2) Zero
(3) Negative
(4) Equalto 2
HeE & H9E HHT TE B T
(1) EpRTHS
2 =
(3) TARTHE
4) 2 3 FUET

7. The mean deviation of the scores 12, 15, 18 is :
(1) 6
2 0
3) 3
(4) 2 :
12,15, 18 3l 1 Arexr e &
(1) 6
() 0
(3) 3
@ 2
MPH/PHDfURS-EE-ZOZO!(Commcrce)(SET-Z)l(A)
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8. Forany study you should question the validity and reliability of :
(1) the questionnaire
(2) the sampling procedure
(3) the interviewing process.

(4) all of the above
Reell o oo B RIT Tl gwe Auar ofY FigaeEadr WX ge Ier
ifeT :
(1) Se=AisT
(2) AT T F ufkar
(3) TrEITERIR 9ishar
(4) SUAH T+
9. Assertion (A) : Promotion is a move within the organisation to a higher position that
has greater responsibilities and requires more advanced skills.

Reasoning (R) : Promotion may not involve a raise in status but a hike in salary is a
must.

(1) (A) and (R) both are correct

(2) (A) and (R) both are incorrect

(3) (A) is correct whereas (R) is incorrect
(4) (A) is incorrect whereas (R) is correct

W(A):WW%W@WW%W@W%
Rrad o1fts 2 8 ok otfds S=ia @iwrer Y emavasmar )

T (R) : wiee & Rafy & gfe ofre =8 & @ ®, afyy a9 &
TSI TEd B

(1) (A) 3T (R) T Ter &

(2) (A) 8TX (R) DT TTeret &

(3) (A) @@ & s@fs (R) o &

(4) (A) Taa @ s&f® (R) 98 B
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10.

11.

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)

Which is not correct about nature of leadership ?
(1) Functional relationship

(2) Dynamic Process

(3) Ideal Conduct

(4) Unity of Mutual interests

Jga # 9B B aR F = g FE@T T 7
(1) o 9y

(2) wifcrefier afshar

(3) STI=ST IT=ROT

(4) IRERS Rl #H Qe

Which of these should be most valuable to show a gradual change in behaviour over
time ?

(1) Experimental studies

(2) Longitudinal st_udies'

(.3) Snapshot surveys

(4) Extrapolations

99 & A HIeR H HiAw 9Ras R @ Re 378 § 99 a9 5 1gaqT
8T =Ry ?

(1) sraifes oTema=

(2) ST eregTs

(3) E9sme Fayor

(4) afzds=
P.T:0:
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12. The controller function of the financial management concerns with :
(1) advertising the public issuc of the firm
(2) negotiating with banks for loans
(3) analysing variance between standard costs and actual costs
(4) estimating the future cash flows from certain project
foxia wdvs e Frass &
(1) & & Trdwie g8 @1 s Her
(2) =T & [T SHi B qrT g
(3) AFH AP MY arafas ard & a9 fFEer s feeger i
(4) BB Mg oo | Af sy & THd Jae B STFHE T

13. Which proposal section is intended to describe the purpose with a full statement of the

rescarch question ?

(1) References (2) Literature review
(3) Introduction (4) Proposed Method
Mg w9 B Qi fFEwer & @y SBeF @ g & & [ SiF-ar awE @S
g7
(1) "+ (2) afe @ fen
(3) aR=a (4) weafaa fafy
14. Which is hidden self in the Johari Window ?
(1) Private areca (2) Dark area
(3) Blind area (4) Public area
e Ragat J§ @-ar foar gom & ?
(1) Brft &= (2) sidr A=
(3) ofam &= _ (4) | &=
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15. Why is it important for a researcher to review the literature ?

(1) Because it identifies like-minded researchers

(2) Because it is traditional

(3) Because it shows time has been spent on the subject

(4) Because it will find if anyone has done the work before

T MgEal & [ Wi #it wienr He G wmd ¥ o?

(1) Fifs 75 T R a el # qwEE wwEr
(2) Fiife g8 qRIE B |

(3) =iifr & Ramm & % 3a fug 9t @y arda & mr 2
(4) i 7@ gar I & fBRh F ge w1 Rear @ ar =@

16. Matrix Structure refers to an organization ...............

(1) Structure that creates dual lines of authority and combines functional and product
departmentation.

(2) Structure characterized by a low degree of departmentation, wide spans of control
and authority centralized.

(3) Structure which is typically a small, core organisation that outsources its major
business functions.

(4) Structure of a highly routine operating tasks achieved through specialization, very
formalized rules and regulation, centralizes authority and decision making that
follows the chain of command.

Ay WA o d@TeT @ q1iid B B oo

(1)mﬁmﬁmmm%aﬁrmmm
& s B

) fwrT & o ww R N A d=@, B o ST 3 @S
e $hea |

(3) H=T S o AR 9 o Blel, §eF d@ed & S oY ngE A
FET B IETHRE BT B

(4) R, Tga ohwais Pt ofk Riteas & wream @ ara oF ot

| ¢ S FHEIS B @A B ATET HIEA B
'MPH/PHD/U RS-EE-2020/(Commerce)(SET-Z)/(A) rT.0,
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17. Which one of the following statements is frue ?

(1) If one of the regression coefficients is greater than one, the other must also be
greater than one

(2) The product of the two regression cocfficients is always more than one
(3) The signs of the two regression coefficients are always the same
(4) Correlation coefficient is the arithmetic mean of the two regression coefficients

Preafefa & & Fr-ar s ger e ?

(1) R o SR T B @ @ o ¥, @ R AN T A o B
(2) & ARF™S YOI H1 IR S TH § AP Biar 8
(3) = ARFET OTiE B Hha BHAT TH Y BN &
(4)%&@%%@@?%%&@&%%

18. A possible obstacle to growth of privatization is ..........

(1) Profit earned by public sector enterprises

(2) Sale of least profitable enterprises

(3) Licensing

(4) All of the above

Frefieter & faw & g o dwfad amer ®

(1) G &= & Semt &Ry SIta

(2) HH QA HA ATHAES ITHT A

(3) wEERT

(4) ITAH A
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19. External environment of business is :

(1) International
(2) Economic
3) Demographical
(4) All of these
ST T SEd aaET @
(1) SfaisE
(2) eTfefs
(3) STHHIREgHH
(4) & T+

20. Which one is not an element of internal environment ?
(1) Marketing capabilities
(2) Money and Capital market capabilities
(3) Human resource capabilities
(4) R & D capabilities
HIH-AT AR AAET HT TH O T8 & ¢
(1) fagor amar
(2) AT TR Ioft AR Y e
(3) Mg HEYT amEnd

4) R @d D erqani
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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21. Which among the following is nof the instrument of monctary policy ?

(1) Statutory liquidity Ratio
(2) Deficit financing
(3) Open market operations
(4) Cash reserve ratio
PrfRad & & @ Az A w1 aea 7@ e 7
(1) A=nfores aerar srgar
(2) B 7
(3) g AR |
(4) = ITRfET ST

22. Managerial economics is concerned with which combination of the following ?

(a) Investment Analysis and Decisions

(b) Production Behaviour and Cost Analysis

(c) Input Reward Analysis and Decisions

(d) Economic Environment Analysis

(1) a,bandc (@) b,candd

(3) a,bandd (4) a,candd

yeepg erefemen ol # @ g daom @ qefaa @ 7

(a) FasT fagager o) Folg |

(b) IAET GBI I AT I%rfz?mﬁr

(c) g79e Rard R R ok

(d) enfdfes gafazer fesreor

(1) a,baTXc © (2) b,ceRd

(3) a,befﬂ'(d (4) a,c 3N d
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) '
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23. Which among the following is not a generic strategy ?
(1) Unity Strategy
(2) Cost leadership strategy
(3) Differentiation Strategy

(4) Niche stratcgy
Frafafad & & @ T aAsE O 787 8 ?

24. Pollution monitoring and control is done by :
(1) Central board of prevention and control of water pollution
(2) Central government
(3) Central board of pollution control
(4) None of the above
agaeT @t FRET oii et et ara fear s @
(l)ﬁﬁﬁﬁéaﬁmﬁaﬁmmaﬁtﬁm@m
(2) #= TR
(3) T NE ol g TR

(4) I9Aw H q Pg 1S
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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23. Which among the following is nor a generic strategy ?
(1) Unity Strategy
(2) Cost lcadership strategy
(3) Differentiation Strategy

(4) Niche strategy
Fr=afafad § @ H9 uF =g Ry 7872 ?

(1) Tear ToTier
(2) TPTT AGA T
3) Fridister oy
(4) STaT oI

24. Pollution monitoring and control is done by :
(1) Central board of prevention and control of water pollution
(2) Central government
(3) Central board of pollution control
(4) None of the above
gaVT # PR o Rrdser Bost 2R Rear st ©
(1) &5 a2 oifs BrdearT Qvs #epie i qrger
(2) F= TIHR
(3) A A offw qrgeE P

(4) IIAH 7 F g 7Ed

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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25. Tn case the producer’s equilibrium shifis to a higher isoquant duc to decrease in price of

\e curve combining the successive equilibrium positions is known as :

an input, tl
(1) Product line

(2) Price factor curve

(3) Production possibility curve

(4) Expansion path
ﬁ%a@ﬁ%ﬁm%wmﬁw@ﬁmﬁ
EaRa & Sar 8, A e " '

ST @ -

(1) SO g

(2) T FREH TH

(3) IEA HHEAT IH

(4) o= 9=

26. Which statement is correct ?

(1) An inferior good is one whose consumption decrease when income increases.

(2) The total change in quantity consumed of a commodity due to change in its price is
called the price effect.
(3) Income effect results from the increase in real income due to a decrease in the price

of a commodity.
(4) All of the above
Pr-a1 BT TET 8 7
(1) © oreed! oresT a8 ¥ Rrae SuiT o 9g 9T e |

(2)&5ma1§3mﬁwﬁeﬁaﬁﬁwﬁ@ﬁm@r@fqﬁaﬁ#aﬁraﬁ%a@
¥ qftade 3 HROT gTI T9G FHel AT 8 | | .

(3)aﬁﬂ-%ﬁﬁéwmﬁ$mﬁqﬁﬁmmqﬁﬂml

(4) ITAH T
MPH/PHD/URS-EE-2020/(Comm erce)(SET-Z)/(A)
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27. An analysis of the internal environment enables a firm to identify @

28.

VIPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)

(1) Opportunities and threats
(2) Strengths and weaknesses
. (3) Opportunitics and strengths

(4) Weakness and threats

SR ararE<eT & RAYAYYT uh HH B ggEEA H HEH FAKT 8

(1) 3r@ax 3R asi=

2) g 3N FHHES

(3) S1@ER IR drehat

(4) HH ST TqoiA

An interview, in which the applicant is interviewed sequentially by several persons and
each rates the applicant on a standard form, is called :

(1) Unstructured Sequential Interview

(2) Structured Sequential Interview

(3) Job related Interview

(4) Mass Ihtcrvicw _
T% AT, Rrad oTie® @1 H2 ARFI &R HHER ETHT BT o §

3R 9dAF STAGH Th AFE ©9 A A B Fad ¢
(1) oTHfera STghitra ATRIThIR

(2) TR ST ETEREHIT

(3) At ey arerERT

(4) AMfRs ArETERTT

P.T.O.
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29. India is mof associated with :

(1) SAARC (2) NAFTA
(3) BRICS _ (4) None of the above
WRa frad d@a= 787 © ¢

(1) @ (2) =TT

(3) fora 4) S F § B Tl

30. According to the crec;iil tranche policy of the IMF, credit is made available in :
(1) Five tranches, each equivalent to 20% of country's quota
(2) Four tranches, each equivalent to 25% of country's quota
(3) Ten tranches, each equivalent to 10% of country's SDRS
(4) Five tranches, each equivalent to 25% of country's SDRS
SETTTE % AT Fred AR B omgER, BT ¥ Suce HIET S T
(1) 9" =9, 29T B HeT B TAD 20% FTTE
2) 9 G, 39 B HET B TAD 25% B TN
(3) 39 ¥, 39 B QESIRTH & 4% 10% B GUEs
(4) 9F 3G 39 B CHSITRUA B HAH 25% B G

31. GNP=
(1) GDP — Net Depreciation
(2) GDP — interest
(3) GDP — Net factor income from abroad
(4) All of these

STt =
(1) ST - g= TeTerd

(2) St - =TT

(3) AL - FRY A = BRH o
(4) Sada ad |

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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32. Which of the following is nof normally a feature of oligopolistic market ?
(1) Heavy expenditure on advertising
(2) Existence of price rigidity
(3) Barriers to the entry of new firms
(4) Uniformity in size of firm
fFrfafed § @ SM-a1 g w9 & gl g @ Rdwa 727 & 7
(1) R 9= o918 @+
(2) T HSAT &1 AT
(3) 7% WAl B wAw F gred

(4) v & oTHR F THEgar

33. A tariff fails to restrict imports when the demand for imports is :
(1) Perfectly.price elastic
(2) Price inelastic
(3) Of unitary price elasticity
(4) None of the above |

mm'%m%m%awmamﬁmmﬁﬁﬁm
W& e ‘

(1) &t at& | deer $HEd
(2) T oy
3) THEF g A=

4) ST ¥ § i 7
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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34. In computation of the weighted average cost of capital, weights are assigned as per :
(1) Proportion of fixed and current assets
(2) Proportion of different sources of finance
(3) Proportion of long-term and short term debts
(4) Proportion of the various long term debts and loans
iﬁﬁﬁmﬁﬁaﬁ'ﬂﬂﬁmaﬁm%aﬂﬁﬁ,mﬁﬂﬂ'mw%:
(1) oTaw o FciH= HaRY &1 STFUTT |
) faa & &A= Aar &1 erga
(3) eI fX STeghifes FOT HT AT
(4) = Qedfees ol T @9 &1 I
35. Master budget is a budget which is prepared from the ...................
(1) Profit and loss a/c
(2) Sales budgets in short form

(3) Purchase budget in detail form

(4) Functional budgets in summary form

(1) @rq ofix &ify @rr

(2) @it w7 & R aere

(3) R &9 § a9 @ix

(4) AT ©9 H HAfHs aoie
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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36. CAPM describes the relationship betwecen

(1) The required rate of return and the non-diversifiable risk
(2) Cost of capital and diversifiable risk

(3) The required ratc of return and business risk

(4) The required rate of return and total risk

CAPM & I HEL & a0 ...oovvvveenee.

(1) argE @ TEYEs &3 ofk IR-fafaer ifem

) Tt IR Ry Sifew @ arr

(3) A FI HELTH &I AR AEFANAD A

(4) A P FA I AR FA ANEA

37. Factor Endowment Theory of International Trade was propounded by :

(1) David Ricardo
(2) 1. S. Mill

(3) Bertil-Ohilin

(4) C.P.Kindleberger

ST AR FT HReb AN Ryie ERT Seeifae fhar T o
(1) 3rs Rt

2) g, o

(3) afda-anefer

4) @, §. FFsaaik

VIPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T. 0
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Which statement is false ?

38.
(1) The cost of capital is a hurdlc rate for new investment projects

(2) Cost of debt is lower than cost of equity

(3) Cost of retained carnings is lower than cost of equity
(4) Beta is a measure of cost of capital

T T HIT TAT & 7
’(1)@aaamm¢ﬁamﬁzhmaﬁ%mwmﬂ%

(2)@@%3%6&%@65#%
(3)n%uﬁﬁmaﬁwmsﬁaﬁaﬁwﬁfm%
(4) et goft & ArTa H TH IIE 8
39. Which of the following is the best example of Agreement between Oligopolists ?
(2) OPEC

(1) WTO
(3) UNIDO (4) GATT
Prffad § @ @9 NrioRred & € g9 B 999 ST8T I 8 7
(1) s=g. &. o - (2) ofUh

4) T |

3) gA=t

40. Choose the correct statement :
(1) According to NOI approach, cost of equity is residual

(2) According to traditional approach, cost of equity is independent of amount of debt
(3) Market price per share decreases with use of more debt ag per NT approach

(4) As per M-M approach, value of a firm depends on capital structure

7dl BT g

(1)m@mm%aw,$ﬁaﬁaﬂmmﬁm%

(2) TR GEHT F STIAR, R B A woT R Ry ¥ ey O B
@) 1 ST D ST S 701w A sy Qe v g5

(4)'I‘T;Q‘T?Ea_q;"%W,meiﬁﬁmwﬁﬁrm%
MPH/PHD/URS-EE-2020/(Commerce)(SET.Z)/(A)
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The companies globalize their operations through different means :

(1) Exporting directly

(2) Licensing/Franchising
(3) Joint Venture

(4) All of the above

Fafrr A= T @ o9 aRAeH 5 IiHeT B ¥

(1) & Fafa &
(2) TTgETET/ HABRAT

(3) |gxh IEH
(4) STV T

Which factor is not considered in dividend policy decisions ?
(1) Legal conditions for payment of dividend

(2) Financial requirements of a firm

(3) Growth prospects

(4) Desire to have control on management

AT iR Frofat # Be-ar R T8 5 omar @
(1) T & g % R e ot

(2) et vt @ Rt aTasaeaTd

(3) b =t Gwraems

(4) s T P <@y @ gem

More expansion of foreign direct investment can boost :

(1) Money circulation (2) Employment

(3) Demand (4) Unemployment
Wf?ﬁ?ﬁﬁaﬂ%mﬁmﬁmﬁﬁﬂw%:
() 7H wgaem (2) JEIR

(3) = | (4) SsTTH

VIPH/PHD/URS-EE-ZOZGI(Commerce)(SET-Z)l(A)

P.T.O.
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44. Which of the following statements is false ?
(1) The opportunity cost of an input is considered in capital budgeting
(2) Capital budgeting decisions are reversible in nature
(3) Cash flows and accounting profits are different
(4) An expansion decision is a capital budgeting decision
Fr=fafaa #§ & F-ar w99 772 ?
(1) YT & FATET AN B Biyee qoieT § JF1 AT &
(2) ir gore Fefa sy § sftedt 29 8
(3) TTHAY st TR AWiBT W ST T
(4) o RR Pl o gofer awe Rrota @

45. Both Foreign Direct Investment (FDI) and Foreign Institutional Investment (FII) are
related to investment in a country. Which of the following is incorrect regarding FDI
and FII ?

(1) Both FII and FDI bring capital into the economy.

(2) FII invests in technology-oriented enterprises, whereas FDI invests in traditional
business set ups.

(3) The restrictions on the entry of FDI are lower than that on FII,

(4) FDI is considered to be more stable than FII. FII can be withdrawn even at a short
notice.

At s R PR (qwdiond) ol RRW s R (awomdend) R
2y F FAsT § Hefo ¥ ) OhRSienE o UweTEeTsE & Wew ¥ PrefiRag ¥ &
B TIATE ?

(1) TweTEens 3T uwdiend AT areferazer ¥ ¢ot @y ¥

(2)qman§eﬂ§ﬁr@ﬁaﬁ—a=ga€aﬁﬁﬁ%mm%,wﬁsma¢m
TR -39 § Frgr we@r

(3) THESIE B FA X Ay UhEAE § F9 B

(4)q%ﬁan§aﬁwaﬂ§maﬁgamﬁmmﬁmwm%|agww
ft gpaTEers arad @ ST Tt B

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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46. Staffing includes .....ooovvvvnne
(1) Work load estimation
(2) Appointment of personncl
(3) Training

(4) All of these

47. Which of the following is the function of distribution channel ?
(1) Fixing prices
(2) Promotional activities
(3) Storage and distribution
(4) All of the above
farerzer ==rat 1 % Frafafaa & @ Far 7
(1) #F\d g &
(2) g=mz fafafer
(3) T i o

(4) I9A<h af
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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48. Vertical merger is the merger of two firms which are involved in which one of the
following forms ?
(1) Similar line of business .
(2) Different stages of distrib:;tion and production in same business activity
(3) Different and unrelated business activitics
(4) Partly similar line of business and partly in different unrelated business activities
oad e & et @ e @ o Reefaiea & @ o ot € 2
(1) =N # F99 Far
2) ¥ e TRy § oo ok sarT 3 R =3
(3) RfT ol sreisifer st TR

(4)wﬁmmﬁw%@ahmmmﬁﬁﬁ=fmﬂaﬁa
amﬁzﬁwﬁfﬁfir&rff

9. A . R is a broad statement of the purpose, scope, duties and responsibilities
of a particular job.
(1) Job analysis
(2) .Job description
(3) Job evaluation

(4) Job enrichment

............... wﬁﬁqm%@w,m%,aﬁhﬁmwmw
AgE g B

(1) St faedger

(2) sita fFazer

(3) =T Jeaieh

(4) it Haed=
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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50. In which one of the following situations is the application of t-test is most appropriate ?
(1) Testing the significance of cocfficient of corrclation between paired observations

of small sized sample
(2) Testing the significance of coefficient of correlation between paired observations

of large sized sample
(3) Comparing variances of two small sized samples
(4) Testing the significance of the difference among mean values of more than two

samples groups

Frafafad § @ $9-0 o Rafy ¥ aR-ar) 8 g gdeor q98 I9GH © 7

(1) 812 STHR & T B gAud oEarel ® 9 qeqdad IolH & He™ FH
qRToT HIAT

) 92 FHR B A B FAq Al B G T Yol B Te™ H
qOETOT HIAT

(3) 3 B2 SMHR B THAT B geATD BT |

(4) & § ofs A TR B oNEd gEdl B dE AKX B HAEA HT T

Which of the following approaches assumes that the understanding of industrial

51.
relations requires an understanding of the capitalized society ?

(1) Marxist Approach

(2) Gandhian approach

(3) Giri approach

(4) Human relations approach

Frafafad # & PH-ar gitehor AT ® & ohefie d«@dat a6t a9 & f[ig
gofiged AATST & qHS S AR & 7

(1) ArREATE gfeeahrer
(2) e gfteanor
(3) fft gfteahror

(4) AmEg Hew gitesmor

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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53.

54.

............. refers to the process of identifying and attracting job seekers so as to build g
pool of qualified job applicants.

(1) Selection (2) Training
(3) Recruitment (4) Development

............ %ﬁﬁmﬁa@aﬁq@mmﬁaﬁtamaﬂﬁaﬁmﬁ
H‘aﬁaw%mﬁsﬁmfﬂw&mﬁmﬁaﬁrwgﬁaﬁmm@l

W) Fm= (2) wfmErer

(3) =it (4) T

Mass production is characterized by :

(1) Low volume high variety (2) High volume low variety
(3) High volume high variety (4) Low volume low variety
I3 PR 9 I Y frdrear -

(1) =9 "= 3= e (2) == A= H9
3) S= "HE=T 3= ey (4) 9 A= F9 ey

Which of the following is not one of the Porter's five forces ?
(1) Bargaining power of customers

(2) Bargaining power of employees

(3) Bargaining power of suppliers

(4) Risk of new entrants

Fret & & i Az @1 o ofeerdt ¥ @ o e
(1) 7t i dash @ afke

(2) FH=RET 3 Aarh % AR

(3) muffareiell 3 drRawh @ R
(4) T FALTH FH AT

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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55. What is mass marketing ?
(1) Offering the same products and marketing mix to all consumers
(2) Offering variety of products to the entire market
(3) Offering differentiated products to all customers
(4) Following concentrated marketing strategy
argfes fager w=r @ 7
(1) @it ITAHRT B T Iaag oM Rgorr Mgor 5 Jerpar
2) @ 9= 7 AR s & St @ Juewe
(3) a4t arEHl B AART IAR) B YsrwsT
(4) BT RO ER F e wEr

58. Ihe...ovcusiinnsss is a plan for the production of individual end items.
(1) MPS 2) JIT
(3) ERP (4) MRP
............... AR JEST agell & IURA & Y o Qo 8
(1) e (2) Samdd
(3) S (4) THId

57. Company seeking ethical standard must purport to :
(1) Good employee relations |
(2) Better production portfolio
(3) Economy of scale
(4) Public disclosure and publishing
s AR @ denyr HA RN FEN B qE FHIAT =R
(1) o8 Hiard daw
(2) FETR IRA AEHIET
(3) ¥R & srefaraeen
(4) Eesit geRdrntor ST ThITH
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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58. The transit time consist of :
(1) Time taken by raw material from machine to machine
(2) Time consumed in moving the work between various departments
(3) Time taken by a worker to machine a component
(4) None of the above
qEA @99 4 et 99T ® ’
(ljwsﬁwﬁmﬁqa’%ﬁaﬁmﬁrmmwm
) Rt R & g B @ oM e # @ a9d
(3)@az|§*{mnsﬂ=ra?rqzsm’%ﬁmmww
(4) SUA<E A & Fg TB
59. What describes the market, product and technological areas of business ?
(1) BCG Matrix
(2) GE Nine Cell Matrix
(3) 7'S Framework
(4) Company Mission
IR, I SN HaHd & Tehehl &1 T aUi B BT & 7
(1) drdh Az |
(2) s =g A< AfgTw
(3) 7’Cd HHAD
(4) T e
MPH/PHD/URS—EE-ZOZO/(Commcrce)(SET-Z)/(A)
-
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g0. Ifaperson buys one ticket of a State lottery, then the probability that he wins a.prize is
0.11. If a person buys one ticket cach month for five months, what is the probability
that he will win least one prize ?

(1) 0.55
) 0.50
(3) 0.44
@) 0.56

o 9 =RE T Al F oh R @ledr 3, @ 98 IO oA & g6
ﬁmamo.ll%luﬁﬁémﬁﬁaqaﬁqzﬁﬁﬁﬁaq@ﬁﬁm%,ﬁ
R GHEAT & 6 98 #H ¥ ®9 TH GIEHK S ¢

(1) 0.55
(2) 0.50
(3) 0.44
(4) 0.56
61. The following type of layout is preferred to manufacture a standard product in large
quantity :
(1) Product layout
(2) Process layout‘
(3) Fixed position layout
(4) Combination layout
Fret WhIC @1 QSIS F91 ABT § TF A% SOk a9H & o e fhar s
3
(1) IOE TS
(2) SE| qAST
(3) Mf=a Rafy demee

(4) GO ASAR_S
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) * P.T.O
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g to market is known

. : inin
62. The scientific system of collecting and analysis of data perta

as.

(1) Production Research
(2) Advertising Research

(3) Marketing Research

(4) None of the above
o & R st & s ol P o AP ST B P
3 w9 ¥ =T IR @ |
(1) SERA FTHU
(2) fRsTo STgEY™
(3) mmsfe R
(4) I9AH A q Hg el
63. Which is the first stage in the projeét management modcll ¢,
(1) Understanding the project environment
(2) Project Planning
(3) Project Definition
(4) Project Control
qRETT gda dfse  ggar SO ST 8 7
(1) RGNS & aIAEReT & FHEAT
(2) AT AT
(3) 9GS @ gREmET

(4) gl Frasor
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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64. The critical path of a network is.. .......oe
(1) for which carliest start time and latest start time arc same

(2) the shortest time path through a network

(3) for which carlicst finish time and latest finish time arc same

(4) the longest time path through a network

(2) TF Acas B AEH J 99 HH 99T 99
() Rra® R ofes @ sieg @ O & THF A AT @A B B T
TH &R |

(4) TF g & HIAH § qEQ w4 999 9"
65. Which one of the following methods is nof a demand forecasting method of Human
Resource Planning ?
(1) Management judgement
(2) Management Grid
(3) Work study technique

(4) Statistical techniques
Prafafag § @ @9-a Ay aFg daem FEes @t |37 g@igae gsia 7@l
g7

(1) vde= Fofg
) wEae firs
(3) FF a1y qHIE

(4) Gy qie
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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66. The stage where the market begins to get saturated and firms being to focus on -
efficiencies and variations of the product, is called the ..............

(1) Decline stage (2) Slowing stage

(3) Maturity stage (4) None of these
mwﬁwmaﬁm%aﬂ?“ﬁmaﬁmﬁ@r{
Rfauarstl ox am SR F3 @ T, ... ey Al © |

(1) 91 oTge (2) =T g B ST

(3) afRgeaar &t araweT (4) 378 A FF TE

67. Snowball sampling can help the researcher to :
(1) Access deviant or hidden populations
(2) Theorise inductively in a qualitative study
(3) Overcome the problem of not having an accessible sampling frame
(4) All of the above
e T &Y A et @ Aew e a@wd
(1) wasr R=Ee= ar Bd g2 o=l
(2) TomeTh IeEFA H Jifos w9 A
(SJWW%FTW@%E&WWWW'
(4) SUAH /A '

68. The standard error is a statistical measure of :
(1) The normal distribution of scores around the sample mean
(2) The extent to which a sample mean is likely to differ from the population mean
(3) The clustering of scores at each end of a survey scale
(4) The degree to which a sample has been accurately stratified
A gfe o it w9
(1) AT AT & SIH-9TE @RI &1 A faawer
(2) TH AT H Had TGS  ad d B 29 A dwreaar
(3) Tderor B T B uAH RBR 9T @I B FaeioT
(4) forg el % T W€ w9 Q@ wlga R TR
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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69. Ifthe null hypothesis is false then which of the following is accepted 7
(1) Null Hypothesis
(2) Positive Hypothesis
(3) Negative Hypothesis
(4) Alternative Hypothesis
afy g1 aReeaeT et B, Y PR ¥ @ der-ar @i B o @ 7
(1) g SR |
(2) FHERTHD IRBEIAT
(3) THRHD YREHTIAT
(4) AFHfeqss qiRHeIT

70. A and B were partners in a firm sharing profit or loss in the ratio of 3 : 1. With effect
from Jan. 1, 2019 they agreed to share profit or loss in the ratio of 2 : 1. Due to change

~ in profit-loss sharing ratio, B's gain or sacrifice will be :
(1) 172,
(2) Sacrifice 1/2
(3) Gain 1/2

(4) Sacrifice 1/3

Aa%Tquraﬁﬁhl%quqmﬁamqﬁaﬁ%aﬁm&llaﬂa'&,._zow
AT 2:1 P orgud J @9 A1 BT AN FIA B ¢ FeHa g | B &

e[urT # qRads & HReT, B T @ 41 &7 &6
(1) 172

(2) ©@rr 172

(3) @ 172

(4) @ 1/3
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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71. A and B are partners sharing profits and losses in the ratio of 7 : 5. They agree to admit
C, their manager, into partnership who is to get 1/6th share in the profits. He acquires
this share as 1/24th from A and 1/8th from B, The new profit sharing ratio will be :

(L) 13:7:4 (2) 7:13.:4

(3) 7:5:6 : (4) 53726

A ST B AEER & St 7:5 & orgur A arw fT BT A HT @ ¥ ¥
T weem, @ arard § @ B §, Pre T U6 & R e
B TR AD 24 MBI 1B D TTH AT FA B, 57 arey
QAT ST BT

(1) 13:7:4 2y 7:13:4

(3) 7:5:6 (4) 5:7:6

72. Consolidated financial statements arc prepared as per accounting standard :

(1) 8 ) 19

(3) 21 (4) 23

TAfha fa<ig faaeer d@idT 796 ... & oTgAR AR R oy ¥
(1) 8 (2) 19

(3) 21 (4) 23

73. On firm's dissolulion, which one of the following account should be prepared at the last ?
(1) Realisation Account
(2) Partner's Capital Accounts
(3) Cash Account
(4) Partner's Loan Account
wf & Rae w, offtm § Prfofas % ¥ @ar @ Y4 R o R 7
(1) age @
(2) X & BT STHETH
(3) FHx Qrcl
(4) UrEAT HT F]OT T

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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74. Goods worth Rs 7,000 were given away as charity would be credited to :
(1) Sales a/c (2) Purcha_sc a/c
(3) Charity a/c (4) Trustee a/c
qe § ST Bpar AT 7000 So B w9 H Rar, #fse & ;o
(1) ferg @rar (2) w7 @
(3) T« @rar (4) =g @

75. While calculating cash flow from operating activities which will be added :
(1) Increase in Inventory |
(2) Increase in Creditors
(3) Decrease in Bills Payable
(4) Increase in Trade Receivables
g AfffREl § F6d gae @ ToET HRa THE R Ser s ?
() 90 7 gis
(2) ¥T=RT 7 e
(3) 27 faeit & @it
(4) =R Wiaat § gix

76. Three coins were tossed 200 times. The number of times 2 heads came up is 72. Then
the probability of 2 heads coming up is :
(1) 125 (2) 7125
(3) 2/25 (4) 9725
dF Ryeh 200 9 I8 T 2 gR BT @ odEr 72 g1 Y 2 B oA &l
HHEAT 8
(1) 1725 (2) 7125
() 2/25 (4) 9/25

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) BT 0.
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77. Main limitation of analysis of financial statements is : '
(1) Affected by window dressing
(2) Difficulty in forecasting
(3) Do not reflect changes in price level
() All of the above
Rrefia Riacot & Risdwor & g & @
(1) &S T | g
(2) @I T § FHeaE
(3) T wW}X H ufigdw & ufafefaa 7 &

(4) STA<H Tt
78. Earnings-based company valuations do not include the :
(1) DCF method . (2) ARR method
(3) ABC method (4) P/E method
A UG HIN B Tegieey F it =& ¥ -
(1) 3t & o fafy (2) T X o1} fafy
(3) T &t =t fafy @) W2 R

79. The total finance charge arising in relation to a finance lease is equal to :
(1) The initial liability to the lessor

(2) The total of the minimum lease paymcnis
(3) The excess of the total of the minimum lease payments over the initial liability to

the lessor
(4) The excess of the initial liability to the lessor over the total of the minimum lease

payments

@ﬁﬁ@%ﬁﬁqﬁwﬁ%wwﬁmgmMW%{
(1) 923X & 9Ri9$ Igar

(2) =ATH 92 & YA H HA
(3) & 3gaT & Rie aRfrs afae W G 92 B YA G a srrdl

(4) gAqH S YA F FA X G2ER B ARG T B St
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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80. Which of the following is nof a tax haven ?
(1) Bermuda Islands
(2) Cayman Islands
(3) England
(4) Mauritius
PR & & B @ 2o 3w T B 7
(1) 3T =19
(2) HAT Ay
3) §is
(4) "rdsg

81. Statement (I) : Management is not just a creature of the economyj; it is a creator as well.
Statement (IT) : He who can manage, can manage anything.
(I) Statement (I) is correct but (II) is incorrect.
(2) Statement (II) is correct but (I) is incorrect.
(3) Both the statements (I) and (II) are incorrect.
(4) Both the statements (I) and (II) are correct.
FG (1) : gdgq dhad degeen & goft 98 § g8 uw fBEtar of 2
FGF (1) : T8 S g7 FHT AHAT 8, HY N Ja=g HT THaT S |
(1) &7 (1) @& & A1 (1) Tera 2
2) = (1) & B @fep (1) Tera B
() Tt we (1) 3N (1) T ¥
(4) [t Ha (1) ot (1) 9 ¥

MPH/PHD/U RS-EE-2020/(Commerce)(SET-Z)/(A) P.T. O.
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82. Which is most popular source of short term finance ?
(1) Commercial papers
(2) Credit facility
(3) Commercial bills

(4) Commercial banks

ST forer @1 dad Al Qa #e-ar ¥ ?
(1) afias o
(2) =1 gfaer
(3) afiRas R
(4) aiiigs Jw
83. Which one of the following is not covered in macro-economic ?

(1) Performance of the entire economy
(2) Price and output determination of a commodity

(3) Factors and forces of economic fluctuations

(4) Monetary and fiscal policies
Fr=fofaa & @ #9 Jepr-onftie & i 7872 ?
(1) "Yet orefarazear #1 gyaef |
(2) Pt g 1 e o smeeye Frafer

(3) ol IAR-TgE B FRF M Fw

(4) Hfzp R T it
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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| e S
|

] g4. Who plays an important role in the success of products and services and in increasing
I

f the marketing share of the firm in business ?
(1) Functional level managers

(2) Corporate level managers

(3) Business level managers

(4) All of the above
ISt ok Farelt @ wherr F oX waEE § wd @ AT ekl gem &

P FEe@qet fEnr P 7
(1) Frafes @) S vEas
(2) FUARET W & 995

(3) =EAIYE T H TGIH
(4) 9 G

85. Transaction of Internet Banking excludes :
(1) Withdrawal of cash anywhere in India
(2) Statement of account for a specific period

(3) Transfer of funds from one account to another account

(4) Balance enquiry

gerae dfp & A9-a7 H enfie e @

(1) wrea & et ot FqHar o Feprat

2) u% fafdree srafy & e @ & RERer

(3) T @i @ gy @A A ORI FT i

(4) 99 & i

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) V' PIT.O.
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86. An organization's appropriate tone at the top promoting cthical conduct is an example
of : i
(1) Ethics sensitivity
- (2) Ethics incentives
(3) Ethical behaviour
(4) Consequentialist
AfrE oERer @Y FgEr W g i oX @F ST HOIUGH W FHH
IEIERT B :
(1) emar dag=eferar
(2) STER WMEET
(5) EIGES -Emar{
(4) gfeTHaTE
87. An independent dircctor is 'one who :
(1) Did not attend a school supported by the company

(2) Does not have outside relationships with other directors

(3) Does not have any other relationships with the company other than his or her

directorship
(4) All of the above
o @ Fie a8 § o
(1) Fwo-it a0 aafa wpa & FE T e
(2) ot FRel & @ amt & Rea =@ ¥
(3) 3E& a1 I Fdem B oremar Hoht B AW B o Hajy T8t B

(4) I a4l
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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88. An......... S a set of processes and procedures that transform data into information
and knowledge.

(1) Information system

(2) Database system
(3) Knowledge system

(4) Computer system

TH ......... mﬁmmﬁwwﬁz%ﬁhﬁmmmﬂ

89. Assertion (A) : Debt - equity ratio indicates the long term solvency of a company.

Reasoning (R) : It measures the ablhty of the company to pay off its long term

liabilities.
Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct reason for (A).
(2) Both (A) and (R) are correct but (R) does not explain (A) correctly.

(3) (A) is correct but (R) is wrong.

4) (A)is wrong but (R) is correct. |
SARFET (A) : FOT-3RRET ITUTT TH HYA B dpiers Arerar FHr gutar ¥

{7 (R) - wmﬁﬁﬁd@ﬁ%aﬂmﬁﬁ%wﬁaﬁmﬁwh

A= Bu g FHs § 9 IO gA ¢
(1) AT (A) ol% (R) & & o (R), (A)a;rmf’r_amﬂrm%l
(2) 37t (A) ofx (R) @d ¥ AfFT (R) G& T8 § (A) & =AEAT TE Faw 2

3) (A) @& ¥ afpT (R) T ¥
(4) (A) T & afpT (R) @ 81
VIPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) P.T.O.
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90. Who among the following is mof associated with theories of motivation ?
(1) A. H. Maslow
(2) Cris Argris
(3) Frederick Herzberg
(4) Peter F. Drucker
Preffag & @ A Rom & Rysidl @ da= 787 & 7
(1) Q. Ta. ARl
(2) fpa sfa
(3) weRew etart
(4) qeX TF. FHT

91. Following is (arc) the component(s) of risk management :
(1) Risk Assessment
(2) Risk Ranking
(3) Risk Control
(4) All of the above

(1) shfEw Jegism
(2) sifas XfpT
(3) Shfaw =T
(4) ST TR
92. Assessment under section 143(1) can be made within a period of ..viusis year(s) from
the end of the financial year in which the return of income is filed.
(1) four (2) three
(3) two (4) one
g1 143(1) % qed gegie el af & oid A ... a§ N erafy & A
A S FET ® R ot @ arqe oot @ o
(1) =X (2) =
@G 4) T
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) : ‘ I
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93. In which of the following ¢

. as¢s, income of previous year is assessable in the previous
year itself ?

(1) Assessment of persons leaving India
(2) A person in employment in India

(3) A person who is into illegal business

(4) A person who is running a charitable institution

(1) R B a™ =RE 7 sy
(2) 9Ra & AR F wm =y

3) T =aRE st o ¥y FRER § &
(4) 0% =afe ot amfel wven =ew <oy B

94. Amount of deduction in case of a person with severe disability under section 80U will

be :
(1) Rs.50000
(2) Rs. 75000

(3) Rs. 125000

(4) Rs. 150000

— —

80U & dea WX fasaitar art =fes & e § o) @t Ry e
! (1) o 50000

(2) o 75000

(3) To 125000

(4) Fo 150000

| MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
|
|
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95. Which of the following categories of registered person is required to file GST Annug]

Return ?

(1) Composition scheme dealer
(2) Input Service distributors
(3) Casual Taxable person

(4) Person registered as TDS deductor U/sS1

foad e et afee e & R dofga @fe @ Frefired § 8 R
Foft FHt FAEGIFHAr & 7

(1) FAfIE @ SR

(2) 79 |1 faaw

(3) ATHRTH HT ARG ARD

(4) Uiss1 & =afts TDS #dxdiat & wq  dofipa 8

96. Tax deduction Account Number or Tax Collection Account Number (TAN) is a
alpha-numeric number issued by the Income-tax Department.

(1) 5 digit

(2) 10 digit

(3) 12 digit

(4) 20 digit

mﬁﬁmﬁmmmmmﬁwdAN)mﬁmmmﬁ

fpar AT ... STH-"GARF FaT & |

(1) 537

(2) 10 37

(3) 12 &

(4) 20 37
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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97. Employer's contribution to the following ...........ccoe.e. provident fund can be
exempted up to 12% of Salary.
(1) Public provident fund
(2) Rccognizc&
(3) Unrecognized
(4) None
Frafoiaa & FERer &1 G e ey Ffy # aaT # 12% TF

98. "Many people want BMW, only a few are able to buy" this is an example of :
(1) Need
(2) Demand
(3) Want
(4) Status

'Ted § AT dudssd 96d €, da9 §B & GleT A TeH ¥ 98 O S
g

(1) SAEasg=mar

@) =t

(3) o

| @ram

| MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A) L ' : P.T:0.
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99. Financing a long-lived assct with short-term financing would be
(1) an example of "moderate risk-moderate (potential) profitability” asset financing.
(2) an example of "low risk-low (potential) profitability" assct financing.

(3) an example of "high risk-high (poicntial) proﬁtablllty“ assct financing -

(4) an example of the "hedging approach” to financing.
TS BT 3 e o | GFg a% HuRT B AT ST e
(1) "qes SfRge-Fers (deifa) arsedr Oy AT H1 OF S|
2) "WWW(HﬂTﬁﬁ)mﬂaﬂT gREafey famdEeT & O IEEIT |

(3) "S=a SNRa9-S=g (Hwifaq) s qﬁﬂt{ﬁ‘rﬁﬁd’iﬂwzﬁrwml
(4) faadger & R “@fFST gfteshivr” @1 T IaTEIOT |

100. The term marketing refers to :

(1) Advertising, Sales Promotion, Publicity and Public Relational activities.

(2) Sales Planning, Strategy and Implementation.

(3) A new product needs ideas, Developments, concepts and improvements.

(4) A philosophy that stresses customer value and satisfaction.

fqor ez § arad ® -
(1) fasmas, st daefs, ga ofx ardwi~e ey nfafafimr |

(2) Fzhr Ao, orifRT ol @raf=g |
(3) TF AT IME JEIGFHAT B [QER, @, ;waerr{urraﬁ 3 gurR |

(4) T 39 S Aes god SR dfte q¥ &« aar 2
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(A)
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1. A and B are partners sharing profits and losses in the ratio of 7 ¢ 5. ‘They agree to admit
C, their manager, into partnership who is to get 1/6th share in the profits. He acquires
this share as 1/24th from A and 1/8th from B, 'The new profit sharing ratio will be :

(1) 13:7:4 (2) 7:13:4
3)7:5:6 (4) 5:7:6

A SN B aware ¥ o 7:5 & sy A e N owfey amn w5 % ¥ A A,
393 wdum, B AR A w5 ¥, ¥ gad 7 1/6 df feea feeen
Riasgq T Y A A 124 N B A 1/8 & vy & urey w7 ¥, w47 M

QIENHIVT ST B
(1) 13:7:4 (2) 7:13:4
(3) 7:5:6 | 4) 5:7:6

2. Consolidated financial statements are prepared as per accounting standard :

(1) 8 @) 19
(3) 21 (4) 23
aafEa g RERer deiwT J9F . F AFAR MR Ry o ¥
(1) 8 (2) 19
(3) 21 (4) 23

3. On firm's dissolution, which one of the following account should be prepared at the last ?
(1) Realisation Account
(2) Partner's Capital Accounts
(3) Cash Account

(4) Partner's Loan Account
w4 3 fages qv, offtm & Frsifofea # & P=-ar e R Rear s enfdg ?

(1) et @

(2) urésT B Bftew sHRETH

(3) 7% T

(4) 9réAT w1 FOT TN
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) | PT.O ‘



' ' dited to :
4. Goods worth Rs 7,000 were given away as charity would be cre

(1) Sales a/c (2) Purchase a/c

(3) Charity a/c (4) Trustee a/c

9 ¥ W AT T 7000 So @ ww # fan, dise o
(1) faspg @ (2) T @

@) = =T (4) = @

5. While calculating cash flow from operating activities which will be added :
(1) Increase in Inventory
(2) Increase in Creditors
(3) Decrease in Bills Payable
(4) Increase in Trade Receivables
R RRRE & T ST B T AR qE Y Sirer ST ?
(1) T8 7 ghe |
(2) 9 ERI | gix
(3) 37 oAt H
(4) =ANR wifedi § gig
6. Three coins were tossed 200 times. The number of times 2 heads came up is 72. Then
the probability of 2 heads coming up is :

(1) 1/25 (2) 725

(3) 2/25 | 4) 925
ﬁﬂﬁaﬁzooaﬂmwnzm%@aﬁﬁw72%nm2%€aﬁaﬁ
HAEAT B

(1) 1/25 (2) 7/25

(3) 2/25 (4) 9/25

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



7. Main limitation of analysis of financial statements is :
(1) Affected by window dressing
(2) Difficulty in forecasting
(3) Do not reflect changes in price level
(4) All of the above
Crd faaeelt & fedsor Y ge @
(1) S R & wfaa
(2) gEigEH T # HER
() T@ & | qReds & afafele T ST

(&) STAH T
8. Earnings-based company valuations do not include the :
(1) DCF method 2) ARR method
(3) ABC method (4) P/E method
o SR FE B aeaE § s T8 ¥
(1) & & o | - v(2)qa¢rtamﬁf€r
@) T & @ ff @) & /% Rf

9. The total finance charge arising in relation to a finance lease is equal to :

(1) The initial liability to the lessor

(2) The total of the minimum lease paymérits

(3) The excess of the total of the minimum lease payments over the initial liability to
the lessor -

(4) The excess of the initial liability to the lessor over the total of the minimum lease

payments
@%@%Wqﬁmaﬁwwmwmw§;
(1) RER & FRE Iq - |
2) g™ € F T BGH
(3)wm%mmmwwﬁﬁwﬂ§aaﬁm
(4)me%@awwﬁrmmmaam
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) '
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10. Which of the following is nof a tax haven ?
(1) Bermuda Islands
(2) Cayman Islands
(3) England
(4) Mauritius
Fr=fafad & @ o9 uw 299 399 & 8 ?
(1) sogeT 9
2) 37 A
(3) F=z
(4) =l
11. Which of the following approaches assumes that the understanding of industrial
relations requires an understanding of the capitalized society ?
(1) Marxist Approach
(2) Gandhian approach
(3) Giri approach
(4) Human relations m,ﬁ?,omor
Frefofrs & @ B BT T ¥ B e ddd @ e @ R
gofiebd GHIST &t THH I SAETHAT § ?
(1) ArgEans! gfte=moT
(2) TeardY gfespoT
(3) P gfeesprer

(4) AT Hete gt
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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12. ...... SRR refers to the process of identifying and attracting job seekers so as to build a
pool of qualified job applicants.
(1) Selection (2) Training
(3) Recruitment (4) Development

............ HEd TN antt B gEEE H oM aTHifa H H aRear A
Heffa AT © s avg BN STAEH! B G ge ST S |

(1) g7 (2) wifRreTeT
(3) st 4) T

13. Mass production is characterized by :

(1) Low volume high variety (2) High volume low variety

(3) High volume high variety (4) Low volume low variety
T2 YR W Saed @ AR @ o
(1) %7 9= 3= e (2) S=a |ET HH e

(3) S=a =T 3= [FH (4) %9 A= FA e

14. - Which of the following is not one of the Porter's five forces ?
(1) Bargaining power of customer§
(2) Bargaining power of employees
(3) Bargaining power of suppliers |

(4) Risk of new entrants ,
e % @ B QYT B i e A A o TR

(1)mz€fz€r@%awﬁz€raﬁ
(2)mﬁﬁraﬁﬁraawﬁa%w%ﬁ
(3) emgRimdiclt @1 ARewh # ARh
(4)=msr?fsrr£fasrs?rﬁaw

MPH/PHD/URS-EE-2020/(Commerce)(SET—Z)/(B) P.T.O.



15. What is mass marketing ?
(1) Offering the same products and marketing mix to all consumers
(2) Offering varicty of products to the entire market
(3) Offering differentiated products to all customers
(4) Following concxntratcd marketing stratcgy
qrffes fages =7 8 7
(1) @ STFel B Gu S oK e e @ 9erheT
Q) R IoTR & RRFT T & Il Sl JTHeT
(3) =t aret w1 fawfa Sl @ ATRsT
(4) i fquor IO @1 9 BT

16. The.......iocunes is a plan for the production,of individual end items.
(1) MPS -(2) JIT
(3) ERP | (4) MRP
............... ARFTIT TS a¥gell & IEEA B [T TH Fo T o |
(1) T9qd " - (2) SR
(3) geTRd (4) THIARS

17. Company seeking ethical standard must purpbrt to:
(1) Good employee relations
(2) Better production portfolio
(3) Economy of scale
(4) Public disclosure and publishing
Hfaes A @ e B AR BAH B gw e iRy
(1) a2 FHardl d€y
(2) Feay IgA JIEwIfa
(3) ¥ i srefeaen
(4) aEsIfeE deRelehor 8N JehILl+
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



18. The transit time consist of :
(1) Time taken by raw material from machine to machine

(2) Time consumed in moving the work between various departments
(3) Time taken by a worker to machine a component

(4) None of the above

TR 899§ At a7ar

(1) 799 & 909 7% &=3 9 gr7 R T ang

(2) RS Rl & =9 &1t 3 ot wor™ ¥ W Ty

(3) @ T BT A B ©F gew B Rw R T T

(4) SRF F | HE &

19.  What describes the market, product and technological areas of business ?

(1) BCG Matrix
(2) GE Nine Cell Matrix
(3) 7'S Framework
(4) Company Mission
IEE, IAE T FIaad & q AN FH g DY Ha T ?
(1) &t Afgerd
(2) ¢ A a« Afgam
(3) 7'T| HHa®
(4) AT A=

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T. O.



20. If a person buys one ticket of a State lottery, then the probability that he Wwins a prize ig

0.11. If a person buys one ticket each month for five months, what is the probability
that he will win least one prize ?

(1) 0.55
(2) 0.50
(3) 0.44
(4) 0.56

AR HE ARD 9 A & I ebe @lEaT B, q 98 REHR SHaar § FEH
HAEA 0.11 B A ¥ aRke X 78N ©h febe die HEN o @ded ©, @
T HAEAAT ¥ B G% HH QA B Th JIEHR ST ?

(1) 0.55
(2) 0.50
(3) 0.44
(4) 0.56 | .

21. GNP=
(1) GDP — Net Depreciation
(2) GDP - interest
(3) GDP — Net factor income from abroad

(4) All of these

Sfraedt =

(1) SIS - g& FeIer™

2) S - =

(3) SIS - FoReT @ P& HRb A
(4) SIEFT G

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



B
22. Which of the foliowing is not normally a feature of oligopolistic market ?

(1) Heavy expenditure on advertising
(2) Existence of price rigidity
(3) Barriers to the entry of new firms
(4) Uniformity in size of firm
FrfoRed & & H-a1 aWa ©9 § HAT g A RAdwar 727 E 2
(1) R W Wl '
(2) T FERAT H RIS
(3) 2 ®HEI B AT F gl
@) & ¥ THR F wHEw

23. A tariff fails to restrict impoﬁs when the demand for imports is :
(1) Perfectly price elaStic
(2) Price inelastic
(3) Of unitary price elas’ticity‘
(4) None of the above
S ST B T AET Bl 8 O U eR% oI @ ufefd #w § Rwe

@ g

(1) gf at& § «=ar HEd
(2) 7F9 ol

(3) THTHH Jed o

(4) IUH & @ Hg TEl

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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24. In computation of the weighted average cost of capital, weights are assigned as per :
(1) Proportion of fixed and current assets
(2) Proportion of different sources of finance
(3) Proportion of long-term and short term debts
(4) Proportion of the various long term debts and loans
iﬁﬁﬁﬂrﬁaeﬁwmaﬁm%aw,mﬁaﬁﬁmw%:
(1) o799 MR a9 HaiRy @1 Srgum
2) a9 & = &t &1 ergua
(3) deprieres SR STeahIfeIs s T &I ST
(4) Rfr=T A F=OT o) ST B ST

25. Master budget is a budget which is prepared from the .........
(1) Profit and loss a/c
(2) Sales budgets in short form
(3) Purchase budget in detail form

(4) Functional budgets in summary form

(1) @ S B\ @rar’

(2) dftra &9 F fesnl aote

() R &9 7 97T Tli]

(4) 9T &4 7 FHEATHS FoC
MP_HIPHD/URS—EE—ZOZO/(Commerce)(SET-Z)/(B)



26. CAPM describes the relationship between ..................
(1) The required rate of return and the non-diversifiable risk
(2) Cost of capital and diversifiable risk
(3) The required rate of return and business risk
(4) The required rate of return and total risk
CAPM 3 &I HEY & GO ..ooovvveneennnnn.
(1) a9 3 STEEH X AR R-fafqy skew
(2) Tt AR fafey sniew @t AR
(3) AT A SAETF I AR AEAAH SRGH

Y

(4) IR H FA X AR FA SAET -

27. Factor Endowment Theory of International Trade was propounded by :
(1) David Ricardo
(2) J.S. Mill
(3) Bertil-Ohilin
(4) C.P.Kindleberger.
S AR #1 FRE Feaw HEid aR1 g @ar @ o e
(1) 2fas el
(2) st.uq. =
(3) aféw-aefer

4) &@. 9. Rrsaei
~ MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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28. Which statement is false ?
(1) The cost of capital is a hurdle rate for new investment projects
(2) Cost of debt is lower than cost of equity
(3) Cost of retained earnings is lower than cost of equity
(4) Beta is a measure of cost of capital
HT AT HBIT ToAT S ?
(1) 951 & A =€ FRer aREsTre & g oh 9o &8 8§
(2) o1 F AFE SREE @ A Q@ %9 ©
() sfrRa omg & wr shad @ I & 9 O
(4) Srer IS & @ w1 uH Su ®

29. Which of the following is the best example of Agreement between Oligopolists ?

(1) WTO (2) OPEC

(3) UNIDO s (4) GATT
ﬂﬂ@@dmﬂ%%&%ﬂﬂ%@ﬁﬁm@aaﬂﬁawv
(1) s=g. &. o @) N®

(3) ZsT 4) T

30. Choose the correct statement :
(1) According to NOI approach, cost of equity is residual
(2) According to traditional approach, cost of equity is independent of amount of debt

(3) Market price per share decreases with use of Bou.o.mag as per NT approach

(4) Asper M-M approach, value of a firm depends on capital structure

g& ®99 A -

(1) TelienE gfedrT & IgE, RS B AW sEire ¥
va%mﬁﬂswgﬂﬂ,mﬁﬁ&_mﬁaﬁs&d@wﬁﬂ%w
Auv%%ﬂsw%%ﬁwgwﬁﬁﬁnwﬂg

(4) T AT B STIAR, T F g Gt e e P e ¥
%ﬂ%ﬂd&%m-ﬁ@&euc\AOoBEnqaaXmH.—.-Ni@
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31. Which of these should be most valuable to show a gradual change in behaviour over

time ?

(1) Experimental studies
(2) Longitudinal studies
3) Snapshbt surveys

(4) Extrapolations

W%Wwﬁmqﬁaﬁﬂﬁ@ﬁ%msﬁﬁ%ﬁmw
=T =fey ?

(1) = eT=a=
(2) g sremE
(3) TUIME FaeoT
(4) sfeds=

32. The controller functioﬁ of the financial management concerns with :
(1) advertising the public issue of the firm
(2) negotiating with banks for loans
(3) analysing variance between standard costs and actual costs
(4) estimating the future cash flows from certain project
fa<ia udgs defa M= &
(1) &5 & @Edf-H Je o fasmes &
(2) o1 % o St & dre E
(3) A% @rg N ardafge @FId @ diE [aEor e gAY &l

(4) %o Ffvad oREomr @ vy & Fedl Ja® &1 ST T
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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33.

34.

35.

Which proposal section is intended to describe the purpose with a full statement of the

research question ?

(1) References (2) Literature review

(3) Introduction (4) Proposed Method

sﬁumﬁ%fﬁﬁﬂm%wa‘%waﬂaﬂh%ﬁ%m’ﬁﬁ-wwm
g7

(1) e | ) e e
(3) wR=g (4) s Ry
Which is hidden self in the Johari Window ?

(1) Private area (2) Dark area

(3) Blind area ' (4) Public area
el Resal & - fogr gaT B ?

(1) P &= - (2) sfawr &
(3) fem @ (4) arwfres dr

Why is it important for a researcher to review the literature ? o

(1) Because it identifies like-minded researchers

(2) Because it is traditional

(3) Because it shows time has been spent on the subject

(4) Because it will find if anyone has done the work before
@sﬁm%maﬁwaﬁWWmmﬁm% ?
(l)mﬁﬁawwﬁwa@sﬁmﬁaﬁwm%l
(2) 1% g8 IRUReE ¥
(3)@%%%%%wﬁwwmaﬁﬁaw%n
(4) (% & 9 TAM B R ¥ wed wmw P ¥ oar a9y

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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36. Matrix Structure refers to an organization

...............

(1) Structure that creates dual lines of authority and combines functional and product
departmentation.

(2) Structure characterized by a low degree of departmentation, wide spans of control
and authority centralized.

(3) Structure which is typically a small, core organisation that outsources its major
business functions.

(4) Structure of a highly routine operating tasks achieved through specialization, very

formalized rules and regulation, centralizes authority and decision making that
follows the chain of command.

AT GITAT THh TS B TR B B vvvevvnennnnnns

(1) E=AT S MR o el A% TR 8 IR HEes X Iae et
H SISl © |

2) BT B w wH B A RQwar @, FEEer R wiiEERer & s
ICESIEECEAR |

(3) EEAT ST MW QX T TH BlEl, J&F TeA 8 S AU e ARG
HET B ASCE™ HT B | -

(4) FaQsEn, sga vERe et o) e & Ao 9 ara O STEiNs
Pt o= sEt @ a9, Tieeer X ol a9 @ k%A A
2 S FHHIE W YET B SATELT FHAT ¢ |

37. Which one of the following statements is true ?

(1) If one of the regression coefficients is greater than one, the other must also be
greater than one

(2) The product of the two regression coefficients is always more than one
(3) The signs of the two regression coefficients are always the same
(4) Correlation coefficient is the arithmetic mean of the two regression coefficients

Frefeifiag & @ @H-91 HIT T& 8 7
(1)&@%%%@%3@%&@@@%@%%%
=fey

(2)&19%7mg°ﬁzﬁwamaﬁsnm%amm%
(3) & SREEA PTG & e sA wh dN a9 ¥

(4)Wawamgmﬁwamﬁﬁumw%
MPH/PHD/U RS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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38. A possible obstacle to growth of privatization is ..........
(1) Profit carned by public séctor enterpriscs
(2) Sale of lcast profitable enterpriscs
(3) Licensing
(4) All of the above
fFroteeRor & faer & R up defa amn
(1) g & 3 Il arT oIlfg ame
(2) 9 q HH AHEIS IeAT B
©RSIESIH
(4) S=h T+

39. External environment of business is :
(1) International
(2) Economic
(3) Demographical
(4) All of these
A H B ATAERT ©
(1) siadsg
(2) erfeien
(3) sTHAEAFY

(4) I |+l
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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40. Which one is mof an clement of internal environment ?
(1) Marketing capabilities

(2) Money and Capital market capabilities

(3) Human resource capabilities

(4) R & D capabilities

-G AR AIERT H Th q@ 78 8 7

(1) Rrqorr ewTa |

@) 7 AT G TR A A

(3) W T ST

4) R ©d D &=al

41. Following is (are) the component(s) of risk managemenf :
(1) Risk Assessment
(2) Risk Ranking
(3) Risk Control
(4) All of the above
e oifew weias & ues 8 (R) :
(1) SHfaw et |
(2) shfegw e
(3) shigm fFd=oT
(4) IUAH G
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) | P.T.O.
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42. Assessment under section 143(1) can be made within a period of ......... year(s) from
the end of the financial year in which the return of income is filed.
(1) four (2) three
(3) two (4) one

URT 143(1) & ded geuisy R ad & ofd a ... g @ orafyr & ey
frar s g ® Brad o A g oot & ol B

(1) I (2) &=
@) = (4) TH
43. In which of the following cases, income of previous year is assessable in the previous
year itself ?
(1) Assessment of persons leaving India
(2) A person in employment in India
(3) A person who is into illegal business

(4) A person who is running a charitable institution

ﬁwﬁf@aﬁ@rﬁmﬁﬁ,ﬁﬁﬁﬁmﬁaﬁa&ﬁamm
grg g ?

(1) 9T BIgA gl ARKAT T AT
2) wRa § R F wp ARG
(3) T aftp o AT FRER F 8
(4) usp ftp o gAld e = @ ¥

44. Amount of deduction in case of a person with severe disability under section 80U will

be :

(1) Rs.50000 (2) Rs. 75000

(3) Rs. 125000 (4) Rs. 150000

R0U & aed 7T fRrpaiTar gt afth & wa W Al @ iR anf
(1) ®o 50000 (2) ®o 75000

(3) So 125000 (4) o 150000

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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45. Which of the following categories of registered person is required to file GST Annual
Return ?

(1) Composition scheme dealer
(2) Input Service distributors
(3) Casual Taxable person

(4) Person registered as TDS deductor U/s51

Sieed arfes Rewt aifawt w3 & Rg dofisa aafts & Preiffas § @ g
Foft Fr oTaTHaT B 7

(1) AR @ e

(2) Y qar s

(3) HREs H IJrg =ike |

(4) Uis5s1 X =R TDS waxdienat & = # ol &

Tax deduction Account Number or ‘Tax Collection Account Number (TAN) is a

.......... alpha-numeric number issued by the Income-tax Department.
(1) 5 digit

(2) 10 digit
(3) 12 digit
(4) 20 digit

wmmmmmmmﬁW(TAN)Wmmmﬁr&
fepar mar ... SATH-JARE AT ¥ |

(1) 5 3=
(2) 10 3=
(3) 12 3
(4) 20 e

MPH/PHD/URS-EE-ZOZO/(Comme.rce)(SET-Z)/(B) P.T.O.
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47. Employer's contribution to the following .................. provident fund can be
exempted up to 12% of Salary.
(1) Public provident fund
(2) Recognized
(3) Unrecognized
(4) None |

FrafeiRag & MEOPr &1 AP EE .. Afesy Ff & a9 &= 12% IH

(4) BE T

48. "Many people want BMW, only a few are able to buy" this is an example of :
(1) Need
(2) Demand
(3) Want
(4) Status

"IEd § AP SIgHSSY TEd 8, daw 8 & Tlea § wae ¥ 9w % S
2

(1) sTazae
(2) =T
(3) aTdE

| 4) Reafer
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



49. Financinga long-lived asset with short-term financing would be :
(1) an example of "moderate risk-moderate (potential) profitability" asset financing.
(2) an example of "low risk-low (potential) profitability" asset financing.
(3) an example of "high risk-high (potential) profitability" asset financing.
(4) an example of the "hedging approach” to financing.
ST QAN & G Ush da 99 d% 99y &1 fAaaeer seAr e o
(1) "7 SRGH-AeH (Hfaa) asear aREaRy e &1 g% SamseoT )
(2) "BH SREH-FH (Hefre) ST gREuRy faraiser 1 o e |
(3) "S== SEH-S= (Heiad) Arvedr aRERT Ry H1 s '
(4) Rt 3 Rrg “RRTT qRespor B T SEEET

50. The term marketing refers to :
(1) Advertising, Sales Promotion, Publicity and Public Rclational activities.
(2) Sales Planning, Strategy and Implementation.

(3) A new product needs ideas, Developments, concepts and .improvements.‘
(4) A philosophy that stresses customer valuc. and satisfaction.

fergor erex @ arad B

(1) fasmu=, fash dadq, ga) X qEsi e geaues RitaReT |

(2) feshr Arorer, g iR srIteae |

(3) U% AT IMIE HELGHAT & e, Renmd, staarensi o gene |

(4) ws &2 S o gea ofX wgfte o W Aaw ¥
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) : P.T.O.
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51. The following type of layout is preferred to manufacture a standard product in large
quantity :
(1) Product layout
(2) Process layout
(3) Fixed position layout
(4) Combination layout

ﬁwmw%ma@wﬁwwwawﬁ%mmmw
e: o

(1) SR AeT=e
(2) MEE AerSe
) Mg Rufy Jerree
(4) HEASTT AT
52. The scientific system of collecting and analysis of daté pértaining to market is known
as: |
(1) Production Research
(2) Advertising Research
(3) Marketing Research

(4) None of the above

Wﬁﬁéﬁﬁﬂﬁ@%ﬁ%@?ﬁ&%ﬂ%mmﬁﬁwﬁﬁm
& & & SET ST B

(1) SEs SIFEY

(2) fasmg STy

(3) AT Rad

(4) 3UA<h # q FE A&
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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53. Which is the first stage in the project management mddel ?
(1) Understanding the project environment
(2) Project Planning
(3) Project Definition
(4) Project Control
TRASTT geUe Ae § geen =1or de-ar 7
(1) IRAST H IAERT H FHIHA
(2) RIS Frst
(3) aRASHT Hr giR=MT
(4) aRASET e

54. The critical path of a netwqu is
(1) for which earliest start time énd, latest start time are same
(2) the shortest Fime path tﬁrough a network
(3) for which eafliest finish time and latest finish time are same

(4) the longest time path through a network

(1) Fra® R greemll a7 o FeiFaH IRY ¥9 Y §9H 8
) TF Jeas B qreAd A 9 FH G 9

() Fa® g eg @ eq @ B H TG SR AGHOH @™ B B qH Y
s &R

(4) T ATass & HeAd Q@ GEIQ d@G G 9y
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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55. Which one of the following methods is mof a demand forecasting method o Umap

Resource Planning ?

(1) Management Jjudgement
2) Management.Grig

(3) Work Study technique

(4) Statistical techniques

mmaﬁaﬁa-mmwmmﬁﬁmwmmﬁ
27

(1) Jsg foofy

(2) 9§97 s

) B ST g
(4) FifezaT qepep

56. The stage where the market begins to get saturated and firms being to focus on

efficiencies and variations of the product, is called the .........
(1) Decline stage

(2) Slowing stage

(3) Maturity stage

(4) None of these

(1) 999 & s1gwer
(2)2ﬁmqs%aﬁm
(3) RGFTar &5 srawer

(4) 379 a :E TE
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



57. Snowball sampling can help the researcher to :
(1) Access deviant or hidden populations
(2) Theorise inductively in a qualitative study
(3) Overcome the problem of not having an accessible sampling frame
(4) All of the above
A T T @ Mgsar P AeE B ghdl 8 ¢
(1) waq PraeE a1 @ g e
(2) TR SAwEE # deifos w0 @
(3) G YA B9 A7 B K @EE 9 Fg T
(4) ITOH Al

58. The standard error is a statistical measure of :
(1) The normal distribution of scores around the sample mean
(2) The extent to which a sample mean is likely to difYer from the population mean
(3) The clustering of scores at cach end of a survey scale
(4) The degree to which a sample has been accurately stratified
A aﬁ T wiftegaa |9 R
(l)ww%m-w@twmw
(2)mwwmm%mamﬁ%ﬁﬁmt
(3)14&&101%%%%@@“@%1%%@%
(4)m%ﬁwmaﬁmﬁﬁﬁ§a%mw%

59. If the null hypothesis is false then which of the following is accepted ?

(1) Null Hypothesis (2) Positive Hypothesis

(3) Negative Hypothesis (4) Alternative Hypothesis
uﬁqaqﬁmmq&%,aﬁﬂ%@ﬂﬁﬁﬁﬂ-mwmmz?
(1) g R (2) TSRS IRBETT

(3) AHRTHS TREBIAT (4) Ifas qiREpeaT

MPH/PHD/URS-EE-Z020/(Commerce)(SET-Z)l(B) P.T.O.
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60. A and B were p
_ from Jan. 1, 2019 they agreed t0 share

61.

B

atio of 3 ¢ 1. With effect

loss in the
roftt & i0of 2: 1. Due to change

artners in a firm sharing P .
6t or loss in the rat

pro
in profit-loss sharing ratio, B's gain or sacrifice will be :
(1) 172

(2) Sacrifice 1/2

(3) Gain 1/2

(4) Sacrifice 1/3
@R 1 1 sFad, 2019

Aa?Rqusrsa’rﬁ3:1%aqgtnaﬁaW®€ﬁ%
QQZ:I%Wﬁmmaﬁmm%mwgﬂlm-gﬁ%

aﬁqmﬁqﬁaéH%W,Bemmmmﬂmr

(1) 12

(2) & 172

(3) @ 172

(4) @t 1/3

Statement (I) : Management is not just a creature of the economy; it is a creator as well.
Statement (II) : He who can manage, can manage anything.

(1) Statement (I) is correct but (II) is incorrect.

(2) Statement (II) is correct but (I) is incorrect.

(3) Both the statements (I) and (II) are incorrect.

(4) Both the statements (I) and (II) are correct.

e (1) : SeuT AW ST & Ao A€ ¥ aw uw Fetar o B

Fo (1) : 98 N S HY TR 8, FB N T BT GqHar T
(1) ®gF (1) T & AT (1) a2

@) o= (1) T& B afe () o B

(3) AT FE (1) TR (1) ot B

@) = wEa (D) M) (1) @& ¥\

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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63.

Which is most popular source of short term finance ?
(1) Commercial papers

(2) Credit facility

(3) Commercial bills

(4) Commercial banks

SR R H as Qe @i e 8 7
(1) TP 9=

(2) 1 G

(3) aforisas foat

(4) a6

Which one of the following is not covered in macro-economic ?

(1) Performance of the entire economy
(2) Price and output determination of a commodity

(3) Factors and forces of economic fluctuations

(4) Monetary and fiscal policies
e & @ # A-oniis § e TE R ?

(1)@@&@&1@%&%{
(2)ma@wwwmﬁw

MPH/PHD/URS-EE-2020/(Commeree)(SET-Z)/(B)

27

P.T.O.
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64. Who plays an important role in the success of products and services and in IncCreasing

the marketing share of the firm in business ?

(1) Functional level managers

(2) Corporate level managers

(3) Business level managers

(4) All of the above

TR SR Faelt B wher # ofw wEr H B H AT R a3
T Teaqet e e ¥ ? | |

(1) FHEfT® € B Aseh

(2) HART WX & J=TH

(3) =EHET® W & qaercs ,

(4) IUA<H G

65. Transaction of Internet Banking excludes :
(1) Withdrawal of cash anywhere in India
(2) Statement of account for a specific period
(3) Transfer of funds from one account to another account
(4) Balance enquiry
serie AT & AW § wifte @ R
(1) | & ét A AR B R
(2) T Rftre omEfy & Q@ H R
(3) T @ § gEX G 7GRN H AT

OELERIE
MPH/PHD/URS-EE-ZOZO/(Commerce)(SET-Z)/(B)
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66. An organization's appropriate tone at the top promoting ethical conduct is an.example
of :

(1) Ethics sensitivity
(2) Ethics incentives
(3) Ethical behaviour

(4) Consequentialist

ATFH SERTT B ForEr I A Y R TH HISA B IUFH WL FHH
SR B

(1) TR dagashadr
(2) SAER HicEe

(3) IRF TR
(4) gfoTHET

67. An independent director is 'one who :
(1) Did not attend a school supported by the company
(2) Does not have outside relationships with other directors

(3) Does not have any other relationships with the company other than his or her
directorship

(4) All of the above

uF @da FReE g8 B o ¢

(1) H9AT BT AT et H & T o
) e Ry & Ay aex & Req @ ¥

(3) IEd a1 I AL B OTEET HUA &b WY B A weig TE R
(4) IUAH AT

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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68. An ......... is a set of processes and procedures that transform data into information
and knowledge. '

(1) Information system
(2) Database system
(3) Knowledge system
(4) Computer system

TH oo SRpaTett oY SERATeH H wh e T N e H gEA AT FTH A
qRafia ®xar ® |

(1) FI0 SoTRR
) TR yoTeh
(3) ST HoT=

(4) FHHET FOTA

69. Assertion (A) : Debt - equity ratio indicates the long term solvency of a company.
Reasoning (R) : It measures the ability of fhe company to pay off its long term
liabilities.

Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct reason for (A).

(2) Both (A) and (R) are correct but (R) does not explain (A) éorrectly.

(3) (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.

W(A):m—g%@m%ﬁ@ﬁaﬁﬁémﬂ%mwﬁ@ﬁaﬁm%

W(R):WMa%WW%Wa%WEﬁW%I

Sy fag g He @ TE I G

(1) 2t (A) 9T (R) @ ¥ 3T (R), (A) T T HROT «AKT 2 |

(2) &9 (A) 9T (R) & ¥ AfFT (R) 98 ad® A (A) & aren T8t w3 8

3) (A) @@ & afFT R) Tl ¥

(4) (A) T & @ R) W
MPH/PHD/URS-EE-zozo/(Commerce)(SET-Z)/(B)
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70. Who among the following is not associated with theories of motivation 7
(1) A.H. Maslow
(2) Cris Argris
(3) Frederick Herzberg
(4) Peter F. Drucker

ﬁmﬁr@ﬁﬁﬁaﬁﬁm%%@ﬁ%m FET T ?

71. The companies globalize their opefations through different méans :
(1) Exporting directly |
(2) Licensing/Franchising -
(3) Joint Venture
(4) All of the above
WWWM@G@WW%SWW%: |
(1) @& Frfa BT
(2) AR/ AT
(3) €gTh FEH

(4) ITq<h qHl
MPH/PHD/U RS-EE-2020/(C0mmerce)(SET-Z)/(B) | P. T:O.
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72. Which factor is not considered in dividend policy decisions ?
(1) Legal conditions for payment of dividend
(2) Financial requirements of a firm
(3) Growth prospects
(4) Desire to have control on management
creiisr SRR Rt & ear e w6 A o e !
(1) mrieT & g B R Fe o
2) Reelt o R st
(3) R @ FHEAY
(4) yegT X FRiEeT TE @ g8
73. More expansion of foreign direct investment can boost :
(2) Employment

(1) Money circulation
(4) Unemployment

(3) Demand
mﬁ%&ﬁﬁ%&r%aﬁﬁmﬁrﬂ?@mﬁam%:
(1) Tt FHATT (2) ASFMR

(3) AT (4) AT

Which of the following statements is false 7 -

74.
cost of an input is considered in capital budgeting

(1) The opportunity

(2) Capital budgeting decisions are reversible in nature

(3) Cash flows and accounting profits are different

sion is a capital budgeting decision

(4) An expansion deci
a1 Fud Tad 8 7

Foreferfige # @ -
(1)gquaﬁaqamamaﬁ%ﬁ€ﬁaﬁﬁﬂffﬂmwﬂm%
(2)Wmﬁﬁﬂﬂ§ﬁﬁm@?f%
(3)ngamaﬁra@1wmam%
WWWI?

‘ MPH/PHD/URS-EE—ZOZOI(Commerce)(sET'Z)/(B)
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75. Both Foreign Direct Investment (FDI) and Foreign Institutional Investment (FII) are
related to investment in a country. Which of the following is incorrect regarding FDI

and FII ? |
(1) Both FII and FDI bring capital into the economy.

(2) FII invests in technology-oriented enterprises, whereas FDI invests in traditional
business set ups.

(3) The restrictions on the entry of FDI are lower than that on FII.

(4) FDI is considered to be more stable than FII. FII can be withdrawn even at a short
notice.

T were RS PRw (qHdeTE) oIk FRA wer FRa (Twemgens) Bl
%ﬂﬁﬁ%ﬂ@rﬁ%ﬁﬁa%l@%ﬁaﬂéaﬁ@mﬁaﬁ%ﬁéaﬁﬁ%f@aﬁ%
DT TAT T ?

(1) TheTEaTd X THdleTE A sreferaer § ¢Sl @ ¥

) THeTEeTE MENE-owgE SERt F FA e B, STl qwdeT araR
R Je-o1d F FEay & B |

(3) THSSTE & TAN T TR THIARIAR A/ T T
(4) THESTE B THTESTE A ge F A R AW STRw ¥ Y LA W
N THTESTE argd & ST HH ¢ |
76. Staffing includes ................ :
(1) Work load estimation
(2) Appointment of personnel
(3) Training
(4) All of these .

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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77. Which of the following is the function of distribution channel ?
(1) Fixing prices
(2) Promotional activities
(3) Storage and distribution
(4) All of the above
fRaer A # wd Freafafag § @ @A @ 7
(1) 3T T HET |
(2) =R fafafreT
(3) "SR X e
(4) IT<h g+
78. Vertical merger is the merger of two firms which are involved in which one of the
following forms ?
(1) Similar line of business
(2) Different stages of distribution and production in same business activity
(3) Different and unrelated business activities
4) Partiy similar line of business and partly in different uﬁrelated business activities
daad fae & wat & {ew & o Fraiifea & & we ¥ ot ¥ 7
(1) &AM & A @0
(2) @A erEatgs MaaE J§ REer ok Saew & Rt wxor
3) fafer=1 &l erdsfea aEaiis TRttt

(4) =R oAfEEr B9 A WAN Y@ oMW i ww A R o
ey nfafafeal &
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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70. A ereiniene is a broad statement of the purpose, scope, duties and responsibilities

of a particular job.

(1) Job analysis
(2) Job description
(3) Job evaluation

4) Job enrichment

wﬁﬁﬂm%a%su,maa,mﬁﬁfaﬁtﬁﬁaﬁﬁww

---------------

80. In which one of the following situations is the applicatidn of t-test is most appropriate ?

(1) Testing the significance of coefficient of c'orrelation between paired observations

of small sized sample

(2) Testing the significance of coefficient of correlation between paired observations
of large sized sample

(3) Comparing variances of two small sized samples -

(4) Testing the significance of the difference among mean values of more than two
samples groups

ﬁmﬁ@aﬁaﬁﬂ—@@ﬁqﬁﬁw—wiﬁwqﬁwmﬁm%?

(l)ﬁm%ﬁﬁ%gﬁqﬁeﬂﬁﬁﬁ%%ﬁﬂmﬁm%%ﬂm
qdiefor HEAT

(2)@W%W%WW%WWqW%WW
qleor HET

(3) & B2 SIHR & FHA B GEAAD [FHHA

(4):?%3@%?@@%@%@%%%%%@@&“
HHAT

. MPH/PHD/URS-EE-2020/(Com merce)(SET-Z)/(B) | P.T.O.
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81.  Which among the following is mo the instrument of monetary policy ?
(1) Statutory liquidity Ratio
(2) Deficit financing
(3) Open market operations

(4) Cash reserve ratio

ﬁwﬁ@aﬁ%aﬁwﬁmﬁﬁww T 7
(1) Jefvye o STgu

Q) B & =+

Q) A1 IR FEe

(4) BT R AT

82. Managerial economigs is concerned with which combination of the following ?
(a) Investment Analysis and Decisions
(b) Production Behaviour and Cost Analysis
(c) Input Reward Analysis and Decisions
(d) Economic Environment Analysis
(1) a,bandc (2) b,cand d
(3) a,bandd (@) acandd
gegeg Age frfiiad § @ R d@aom § gete ® 7
(a) g faedwer ok folg
(b) Swred sggerR 3T v fasdwor
(c) g1ge Rard fasamor ol fFolg
(d) anfdiep wafgeer fRgewor
(1) a,befxc , (2) b,cehxd
(3) a, b3t d 4) a,cofRd
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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83. Which among the following is not a generic strategy ?
(1) Unity Strategy
(2) Cost leadership strategy
(3) Differentiation Strategy
(4) Niche strategy
Rrfiia ¥ @ #9 Tb oATgh OFIG F8T” 7
(1) TehaT IO
(2) AT AFA oI
(3) FrsEieeT YOI
(4) ST IO -

84. Pollution monitoring and control is done by :
(1) Central board of prevention and control of water pollution
(2) Central government
(3) Central board of pollution control
(4) None of the above
vewer & FEE o) T e T R St @
(1) @za 91 A% TR qus s ol aIge
(2) % TR
(3) &a A€ S IgeH FHad
(4) Iudh H 4§ HIg &

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B) P.T.O.
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ant due to decrease in priceo

o a higher isoqu .
positions 15 known as :

85. In case the producer's equilibrium shifts t ,
an input, the curve combining the successive equilibrium
(1) Product line
(2) Price factor curve
(3) Production possibility curve

(4) Expansion path |
qﬁmwﬁwarw%mm#@m@ﬁmq
mﬁ%aw%,amwﬁ%@mﬁm%@ﬁm
e ‘ ‘

(1) I S

(2) T HRH Th

(3) SR GHIGAT T

(4) FrER 9"

86. Which statement is correct ?

(1) An inferior good is one whose consumption decrease when income increases.

~ (2) The total change in quantity consumed of a commodity due to change in its price s
called the price effect. | '

(3) Income effect results from the increase in real income due to a decrease in the price
of a commodity.

(4) All of the above
f-ar Hu4 GET e ?

@) Pt @ & STAT A ST AR A X @Y ary
¥ qigds & HROT ITF T9E FHE S ¥ B o

(3)a1§ﬁzﬁwaﬁm%mwmﬁmmﬁq%amm |

4) IIAH Gl
MPH/PHD/U RS-EE-2020/(Commerce)(SET-Z)/(B)
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g7. Ananalysis of the internal environment enables a firm to identify :
(1) Opportunities and threats
(2) Strengths and weaknesses
A3) Opportuniﬁes and strengths
(4) Weakness and threats |
AR JAET H FeATT 0 HH B grEEN ¥ GEH g ¥
(1) SEER R aef '
() I IR FHEE
(3) STEER X AR
@) F AR oA
88. An interview, in which the applicaﬁt is in.terviewed sequentially by several persons and
each rates the applicant ona standard form, is called : |
(1) Unstructured Sequential Inteﬁiew
(2) Structured Sequential Intervicw..
(3) Job related Iﬁtewiew

(4) Mass Interview |
@W,mﬁmwaﬁimﬁsﬁmm’mmmt
mmm@mwamﬂmt:
(I)WWW

(2) e ST AT

(3) A Gt AR

(4) arfeh HTeATeehT

MPH/PHD/URS-EE-2020/(Com merce)(SET-Z)/(B) P.T.O.
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89. India is not associated with :

(1) SAARC (2) NAITA

(3) BRICS (4) Nonc of the above
IR fraY 99w 787 © ¢
(1) | (2) T ot T
3) fa (4) ST A '
. .. made available in :
90. According to the credit tranche policy of the IMF, credit 15 M

| ' .
(1) Five tranches, each equivalent to 20% of country's quot
(2) Four tranches, each equivalent to 25% of country's quotd
(3) Ten tranches, each equivalent to 10% of country's SDRS
try's SDRS

(4) Five tranches, each equivalent to 25% of coun
Wﬁ%@%&a%%m,mﬁmqmm%;
(1) 9= g2, 391 & el B uw 20% S

(2) IR 59, Yo7 & BreT B HAH 25% b TN

(3) &9 =4, 397 B CERIRTH B TAD 10% & SR

(@) G 2 e B CEARTE B HOF 25% B TR

91. Indicate the incorrect statement among the following :
(1) A statistics is a summary description of characteristics of the sample
(2) A parameter is a summary description of a fixed characteristics of target population

(3) The confidence Jevel is the range into which the true population parameter will fall
assuming a given level of confidence

(4) The confidence level is the probability that a confidence interval will exclude
population parameter

Erfafad § A 7T HAT B A B
(1)@W@ﬁﬁﬁwaﬁmmmm%
(2) T et e Sl B O e Ridett @ wrder .

€ Frogrg @ 98 aMl & el
)Wﬁﬂw PR A e T

(4)ﬁsamwagﬁﬂm%:ﬁr@ .
T A LA SR e Waﬁaﬁ

MPH/PHD/U RS—EE-2020/(Commerce)(SET-Z)/(B)
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92. th-square test is used as : |
(1) A test of significance of mean in cross tabulation
(2) A test of significance of proportion
(3) A test of analysis of variance in bivariate data
(4) Atest of significance of the observed association in a cross tabulation
FE-at glwor $ w9 F wAeT fear S R
(1) S JgReE § 7reA F "o H AT
(2) STIUE & Hew™ B TIET
(3)%wﬁﬁéaﬁﬁrmwa‘oﬁs%wwuﬁm

(4)qzsmégésﬁﬁamﬁfmﬁ%waﬁrqﬁm

93. Which statistics and statistical term is not associated with Bivariate regression analysis ?

(1) Cocfficient of multiple determination
(2) Standard error of estimate
(3) Estimated or predicted value

4) Coefficient of determination

%WW%W%W%%W@TWW&WWW

g7

(l)agﬁﬁﬂg"ﬂ%

(2) e B A G
(3) e a1 AT T

4) FrgEa TN
MPH/PHD/URS-EE-ZOZO/(Commerce)(SET-Z)/(B) - P.T.O.
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94. Kaiser-Meyer-Olkin is a measure of ...
(1) Factor scores
(2) Factors loading
(3) Correlation between variables
(4) Sampling adequacy
Sav-Agv-oftfesr o wuH B
(1) HF @
(2) HH ST
(3) =Xt & §9 gedEy
(4) T N g
85. Ifr=0.6,byx=1.2thenbxy=
(1) 0.3 (2) 0.2
(3) 0.72 (4) 0.42
g% r=0.6,byx=1.2 & @ bxy=
(1) 0.3 (2) 0.2
(3) 0.72 (4) 0.42

96. The measures of dispersion can never be :
(1) Positive
(2) Zero
(3) Negative
(4) Equalto2
&eirg & A9E B AE A wHQ
(1) AFIHS
(2) g4
(3) AHLHSD
4) 2 & SUET

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)



97. The mean deviation of the scores 12, 15, 18 is :
1) 6
@) 0
@3) 3
@) 2
12, 15, 18 3ii &1 AT e ®
.Cv 6
20
3) 3

“4) 2

98. For any study you should question the validity and reliability of :

(1) the questionnaire
(2) the sampling procedure
Gv the interviewing process.
(4) all of the above |
g&ﬂgwﬂnﬁq&ﬁ&wﬁ%gmﬂﬁﬂnﬁaﬂﬂ
Tifaq :

(1) g

(2) =g & S ST

, (3) @RIk SR

(4) Ig<H G

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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99. Assertion (A) : Promotion is a move within the organisation to a higher position thy
has greater responsibilities and requires more advanced skills.

Reasoning (R) : Promotion may not involve a raise in status but a hike in salary is 4
must.

(1) (A) and (R) both are correct
(2) (A) and (R) both are incorrect
(3) (A) is correct whereas (R) is incorrect

(4) (A) is incorrect whereas (R) is correct

ﬂw_ﬁﬂﬁb.a&ﬂﬂﬁﬁﬂw&ﬂﬁmaﬂdﬁaﬂgw@aﬁwﬁﬁw
fred ot aif ¥ ok otftes g Do &t STESTeRT © |

T (R) : siee # Refy # gfe afve =& & @l B, AfpT a9 |
TR T&Y B .

(1) (A) X (R) I+ @&
2) (A) R (R) AT T T
(3) (A) g ® s&fs (R) T B
4) (A) T ¥ oEfE (R) @& R

100. Which is nof correct about nature of leadership ?
(1) Functional relationship
(2) Dynamic Process
(3) Ideal Conduct
(4) Unity of Mutual interests
Sg A wER B AR A A wd Ty
(1) FraTeeH HE
(2) nfarsier wfswAT
(3) oTEsl AT

(4) g fEdl @ gl
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(B)
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1. The companien plobalize (their operations through different means
(1) Lixporting, directly
(2) Licensing/lranchising,
(3) Joint Venture
(4) All of the nbove
gt (e et Qg afzeert e Agdlen pedl ®
(1) @9 fala s
(2) wngdtfein / wengiin
(3) dyen e

(4) 3uen qaly _

2. Which factor is not considered in dividend policy decisions ?
(1) Legal conditions for payment of dividend
(2) Financial requirements of a firm
(3) Growth prospects
(4) Desire to have control on management
ardiar Sifermer Bt e s d e onan ¥ 7
(1) @meriar & aprenst & fem aprph @l
(2) fBdr w0 fada srgeaepand
(3) famra &1 deasmi
(4) "ot a¥ FrEEer @R # ge

3. More expansion of foreign direct investment can boost

(1) Money circulation (2) Employment

(3) Demand (4) Unemployment
uered fadelt Fraer & sifaes fawne Q@ aemar e gwar
(1) 5+fr wagdgr (2) AT

(3) wiw (4) AQsEdh

MPH/PHD/URS-EE-2020/(Com merce)(SET-Z)/(C) P.T.O.



4.

Which of the following statements is fulse ?

(1) The Opportunity cost of an input is considered in capital budgeting
(2) Capital budgeting decisions are reversible in nature

(3) Cash flows and accounting profits are different

(4) An expansion decision is a capital budgeting decision

Wﬂw&w@ﬂmw%-ﬁmmmﬂ TTT & 7

Both Foreign Direct Investment (FDI) and Foreign Institutional Investment (FII) are

related to investment in a country. Which of the following is incorrect regarding FDI
and FII ?

(1) Both FII and FDI bring capital into the economy.

(2) FII invests in technology-oriented enterprises, whereas FDI invests in traditional
business set ups.

(3) The restrictions on the entry of FDI are lower than that on FII.

(4) FDI is considered to be more stable than FII. F II can be withdrawn even at a short
notice.

AT Toe el FRer (qwdiens) ofk R e Frasr (cherdens) ey
wﬂmgﬂ@%mw_aﬁ%uﬂoﬂ@ﬁmwﬂﬂmm%m@

Sﬁmﬁ@aﬁw%nﬁwﬁ&&ﬂwﬂmﬂmﬂﬁm@ﬂ@w_

vaﬁ%ﬁ§|%§wgﬂgw~§§%§
R Ae-379 T fHasT Har T

Gvﬁ@oﬂw%nwﬂﬂm@ﬂmﬁﬂaﬂawﬁw_

Qvaﬂw@ﬁw%uﬂﬂmﬁa%m&ﬂm%gﬁﬂﬂ@w.ﬂﬂﬂﬂﬂ
A THARHATS ar9q o o7 Tl T |

zwm\me\GWW-Hm-Nch\AOoEEannomeﬂ-NV\AOv



6. Staffing includes ................
(1) Work load estimation
(2) Appointment of personnel
(3) Training
(4) All of these
€T & ... ST B
(1) F AR & STEhEA
(2) HHAT B FGRe
(3) wfRrereT
(4) SR qH

7. Which of the following is the function of distribution channel ?
(1) Fixing prices
(2) Promotional activities
(3) Storage and distribution
(4) All of the above

Eﬂﬂwﬂ_ﬂﬁaﬂﬂﬂﬁﬁﬂmw%ﬁww

(4) SUAH T
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.



8.

C

Vertical merger is the merger of two firms which are involved in which one of the
following forms ?

(1) Similar line of business

(2) Different stages of distribution and production in same busincss activity

(3) Different and unrelated business activities

(4) Partly similar line of business and partly in different unrelated business activitics

ﬂﬂﬁwﬂﬁﬂﬂﬂﬁmﬂﬁw%?ﬂwﬁmﬂm@ﬁmm:_ﬂaww

A...........isa broad statement of the purpose, scope, duties and responsibilities

of a particular job, -
(1) Job analysis
(2) Job Qomoaﬁ,mo:
(3) Job evaluation

(4) Job osaor.BnE

...... e U N B F GRey PRIGE, aiedt ofye RRT %7 o
AqF faeror T

(4) S G

Ew:%:cazm-mm-nsﬁooss%eama-@\@
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10. In which one of the following situations is the application of t-test is most appropriate ?

(1) Testing the significance of coefficient of correlation between paired observations
of small sized sample

(2) Testing the significance of coefficient of correlation between paired observations
of large sized sample

(3) Comparing variances of two small sized samples

(4) Testing the significance of the difference among mean values of more than two
samples groups

Wﬂw@dm@ﬂwﬂ-%ﬁmmﬁﬂmﬁlﬁ%ﬂ@a&mﬂﬁm@ﬁwﬁww

E@w@ﬁﬂﬂwmﬂww_w?daﬂ%jwmﬁﬂﬁ%muaﬁwﬁﬂﬁ
GI&TOT HIAT

(@) T SR F TR B P o B e wE s e @
QU&TOT AT

(3) A BI HR H T B oS R

@&@@@ﬂ%%&%ﬁd@%%ﬂ%%ﬁﬂﬁgmﬂ
AT

11. Which among the following is not the instrument of monetary policy ?

(1) Statutory liquidity Ratio
(2) Deficit financing
(3) Open market operations

(4) Cash reserve ratio

Frifefad & & P N Ay o a9 S 2
(1) e R ST

(2) fa & =i

(3) G AR HaE

(4) TThE AR ST

MPH/PHD/U Ww-mm-ncnc\AOoEBanooVAmmH-NV\AQ P.T.O.



12. Managerial economics is concerned with which combination of the following ?

(a) Investment Analysis and Decisions
(b) Production Behaviour and Cost Analysis
(c) Input Reward Analysis and Decisions

(d) Economic Environment Analysis
(1) a,band ¢ (2) b,cand d
(3) a,band d (4) a,candd
ﬁﬂ&ﬁﬁ&wﬂﬂﬁﬂ@@dmﬂwﬂﬂﬂ%ﬂﬂ@ﬁﬂﬁﬂww
(a) ™asT fasawer o fyofg

(b) ST R R aFa fgeryor
(¢) Tge Rar Fasdryer o Fofg
(@) i Ttazer RredreT

(1) a,balRc

3) a, bl d

(2) b, c 3T d

4) a,c3T}d

13. Which among the following is not a generic strategy ?

(1) Unity Strategy

(2) Cost leadership strategy

(3) Differentiation Strategy

(4) Niche wﬁnm.ﬂom%

Frifafad ¥ & i o =9 oFRy 787 D 2

(1) T&ar Torfifer

(2) T A9 T

) faadmor o

(4) oTreT Tornfy
gwgmUan-mm-ucwc\AOoEEm..nmemH-NV\AOV



14. Pollution monitoring and control is done by :
(1) Central board of prevention and control of water pollution
(2) Central government
(3) Central board of pollution control
(4) None of the above
eyl & FIRE o) e e 2 B S
(1) 5a N I DIE oe Fow FF TgIH
2) % THR
(3) =T S A WG F
(@) S F & B @

ap

e

15. In case the producer's equilibrium shifts to a higher isoquant due to decrease in prics of
an input, the curve combining the successive equilibrium positions is known as::

(1) Product line

(2) Price factor curve

(3) Production possibility curve

(4) Expansion path

afz fRfl 39ge # FHG H FH D BRI IARSH {IIT TH ST SIRSIE S o
GRS & ST &, o Hiue §9ged & B d9eH H e R §Y 8 S

ST ®

X
<

(1) I ARA
(2) T FRH TH
(3) SYEA IHEAT I5h

CORESUAR]
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168 Which statement is corpect

(D An interior good is one whose consumption decrease when income increases.

Y . A N ) . ~ b \ I X i M i 5
(M) The otal change in quantity consumed of a commodity due to change in its price is

called the price etteet,

(M Income ettect results from the increase in real income due to a decrease in the price
ot a commaodity.

(B All ot the above
M- e el ¥ P
(D) W oredad) aresy qe ¥ Rraesr agsir ang Qg U e ¥ |

() R axg @ awdn ¥ o A W A Y a@ e aRads @ A ge
N alada & @Rer qe awre e o ¥

(3) axy N A A N P HROT qrafye o A gfe A ot wwE afens |
CABE R EUGIR S |

17.  An analysis of the internal environment enables a firm to identify :
(1) Opportunities and threats
(2) Strengths and weaknesses
(3) Opportunities and strengths
(4) Weakness and threats
Stiafes araraer &1 QAN T wH o grErE A qam g ar ¥
(1) argar 3N aotd
(2) arqet o @oNd
(3) oraEy INT T
(4) gmond afe asta
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C)
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18. An interview, in which the applicant is interviewed sequentially by several persons and
each rates the applicant on a standard form, is called :

(1) Unstructured Sequential Interview
(2) Structured Sequential Interview
(3) Job related Interview

(4) Mass Interview

T AETERR, R oAes B $E ARRGT ERT HHAR AETehR AT S ¥
3 TAF AT Teh A% ©9 F &3 & Fad @ ¢

(1) AERT STIehifeh HTRIehk
(2) ST STgehiHeh AR
(3) AHA T AR

(4) TrgfEp WK
19. India is not associated with :
(1) SAARC (2) NAFTA
(3) BRICS (4) None of the above
IR fped d9= 7&T 2 -
(1) & (2) STeReT
(3) fsre = (4) SI<H H & Hig T8

20. According to the credit tranche policy of the IMF, credit is made available in :
(1) Five tranches, each equivalent to 20% of country's quota
2) F our tranches, each equivalent to 25% of country's quota
(3) Ten tranches, each equivalent to 10% of country's SDRS
(4) Five tranches, each equivalent to 25% of country's SDRS
STETATE FI Bfee fhed AT & TIAR, Hisc ¥ IUT=T HIAT ST B
(1) 9fF 2729, 3T & HET & &% 20% SE
(2) IR 799, 3T & P B A 25% F FqEX
(3) &9 3949, 9T B THSISTRUH & &% 10% & XK
(4) df9 399 3w B CESIIRTE B TAF 25% B SET
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.
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21,

22,

Indicate the incorrect statement among the following :
(1) A statistics is a summary description of characteristics of the sample
(2) A parameter is a Summary description of a fixed characteristics of target population

(3) The confidence level is the range into which the true population parameter Wl” fall,

assuming a given level of confidence

(4) The confidence leve] is the probability that a confidence interval will exclude the
population parameter

ﬁw%%aﬁﬁwwmaﬁgﬁaﬁ:
(1) T W@#ﬂ‘ﬁaﬁﬁ%&ﬁ@ﬁrﬁﬂﬁﬂw%

Chi-square test is used as :

(1) A test of significance of mean in cross tabulation

(2) Atestof signiﬁcance. of proportion

(3) A test of analysis of variance in bivariate data

(4) A test of significance of the observed association in a cross tabulation
P AT F W K AT R ot D

(1) 189 QAT & A7 & wow wr qharoy

(2) SFUT & HAEE B Tfaor
(3)%m%1aé—aﬁﬁw%mﬁwawqﬁm
(4)@%%@31?13%@#%%%@@%

MPH/PHD/URS- EE-2020/(Commerce)(SET-Z)/(C)
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23. Which statistics and statistical term is not associated with Bivariate regression analysis ?

(1) Coefficient of multiple determination
(2) Standard error of estimate
(3) Estimated or predicted value

(4) Coefficient of determination

fefora e fssiver 3w A9 A it IR wiRedT w=m dawm 7@
g7

(1) sig Fe== Jomies

(2) ST H AH i

(3) SThReT AT ST T

(4) Fv=a otis |

24. Kaiser-Meyer-Olkin is a measure of ..............
(1) Factor scores
(2) Factors loading
(3) Correlation between variables

(4) Sampling adequacy

(1) ®&H @Y
(2) HH AfST
(3)aff%ahaﬂaﬁa

(4) T #W gFT<IT
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.



25.

26.

27.

Ifr=0.6, byx = 1. 2 then bxy =

(1) 0.3 (2) 0.2
3) 0.72 (4) 0.42
AR r=06,byx=1.2 q a@ bxy =

() 0.3 (2) 0.2
3) 0.72 4) 0.42

The measures of dispersion can never be
(1) Positive

(2) Zero

(3) Negative

(4) Equal to 2

BAE F AT TN TS D g -

(1) 9RI™H

2) =

(3) TFRTH®H

4) 2 & IR

The mean deviation of the scores 12, 15, 18 is -
(1) 6

2 0

@) 3

(4) 2

12,15, 18 it 1 wmer foperersy B

(1) 6

20

()3

4) 2

zwm%mcawm-gbsSooasﬁeaﬂé\@
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28. For any study you should question the validity and reliability of :
(1) the questionnaire
(2) the sampling procedure
(3) the interviewing process.
(4) all of the above
fret ot s1emg & fow omuenr gt Auar SN favaeriiaar g g1 3aT1
Fifeu :
(1) we=sT
(2) AT A wfhar
(3) QrETeRIX Sfshar
(4) IUAH a4

29. Assertion (A) : Promotion is a move within the organisation to a higher position that
has greater responsibilities and requires more advanced skills.
Reasoning (R) : Promotion may not involve a raise in status but a hike in salary is a
must.
(1) (A) and (R) both are correct
(2) (A) and (R) both are incorrect
(3) (A) is correct whereas (R) is incorrect
(4) (A) is incorrect whereas (R) is correct
IRFIT (A) : T oA & WG U I=d bl & fom usg gpan B
Rred arfoe aifae & ok oiftes S @rerer &t sasasmar B
a1 (R) : sview & Rygfy 7 ghs afve 78t &1 asdh 8, afda das o
FeIad ST& 2 |
(1) (A) 3R (R) ! @&l €
(2) (A) 3R (R) ST o &
(3) (A) && & S&fe (R) 7o 8
(4) (A) T @ SEfe (R) @@ &

VIPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.
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30. Which is not correct about nature of leadership ?
(1) Functional relationship
(2) Dynamic Process
(3) Ideal Conduct
(4) Unity of Mutual interests
TE N TFA F AT H o A g E
(1) HFareas =y
(2) nfash=r ofzay
(3) #AES F=TOT
(4) arHRE fBEt &5 ugar

31. Statement (1) : Management is not just a creature of the economy; it is a creator as well.

Statement (II) : He who can manage, can manage anything.
(1) Statement (1) is correct but (IT) is incorrect.

(2) Statement (II) is correct but (I) is incorrect.

(3) Both the statements (I) and (II) are incorrect.

(4) Both the statements (I) and (1I) are correct.

(1) o= (D) 781 2 afes (1) T 2
(2) g () =& 2 &= (1) e &
(3) Tt ®IT (1) 3hx (II) T ¥

(4) T FIT (1) 3P (I1) =& ¥

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C)
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32. Which is most popular source of short term finance ?
(1) Commercial papers
(2) Credit facility
(3) Commercial bills
(4) Commercial banks
STeuepTier T 1 AEd P A HA-Ar 8 7
(1) atfersgss 9=
(2) o1 gferen
(3) anferogen fareT
(4) anferares <

33. Which one of the foilowing is not covered in macro-economic ?
(1) Performance of the entire economy
(2) Price and output determination of a commodity
(3) Factors and forces of economic fluctuations
(4) Monetary and fiscal policies
Frefifad § Q@ B Aep-onfie H e T T 7
(1) Hqol oreferaeer @l Fesi
2) Reelt aeg @1 ged olR amgeyge Famer
(3) onfdi SAR-=gME & HRH AL T4

4) Az AR o Aifat
MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.
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34. Who plays an important role in the success of products and services and in incrcasing

the marketing share of the firm in business 7
(1) Functional level managers
(2) Corporate level managers
(3) Business level managers
(4) All of the above
TN AT Bt Ay A i M7 e # @i #1 qiFfen federd ag@ &
1wy gfegr farn 3 7
(1) Ao w217 % gajos,
(2) #1972 w7 3, ysus,
(3) amaafaz, =17 %, ysvs,

(4) 2971er 34y

35. ‘Iransaction of Internet Banking excludes -
(1) Withdrawal of cash anywhere in Ipdia
(2) Statement of account for 4 specific period
(3) Transfer of funds from one account to another account
(4) Balance enquiry
garye My g AAEA T gpfers CCANAR
() Arrer o w#f @ g 4 Frare

(2) v fafare gatey % fam AT T fggTor

R I I R T pe— R —

(4) 9 A4y Stiey

MPH/PHD/URS-PJPZ-2020/(C0mmerce)(SET-

Z)/(C)



17

36. An organization's appropriate tone at the top promoting ethical conduct is an example
of :

(1) Ethics sensitivity
(2) Ethics incentives
(3) Ethical behaviour

(4) Consequentialist

ﬁﬁ%mﬁm%ﬁaﬁsﬂﬁm@@mm@gﬁmm
eI B |

(1) TR GAgALNT
(2) AER AedBA

(3) AR =aEr

(4) qROTHa

37. Anindependent director is 'one who :
(1) Did not attend a school supported by the company
(2) Does not have outside relationships with other directors

(3) Does not have any other relationships with the company other than his or her
directorship

(4) All of the above

s @od Fkes a8 ® o

(1) HT BT TAlia et & e T A
) o7 PRy & qY aeY & Red 78 8

(3) IEB AT D FReE B SIAET HUN B WY Plg oFF G TE
(4) IUAH G

MPH/PHD/URS-EE-2020/(Commerce)(SET-Z)/(C) P.T.O.



c

38. An......... is a set of processes and procedures that transform data into information
and knowledge.<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>